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Agriculture is the back bone of our country and so it has to be developed intensively.
Since land cannot be expanded. The available land has to be put to maximum use. We have
to grow two crops now where we were growing only one. Modern methods of cultivation

should be adopted. Pest control cannot be forgotton. Marketing helps the development of
agriculture.
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ARG TR 1986 SHodd 155 HIFoeHSE® £00BE° eoosd. Sol& alErs e, $9
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2. QoS ﬁbc; @BoE) & HHH) DB ?
3. Ui QTp SQBoHBHD ?

4. FA0e QTp B 5 B ol ?

5. Qo P $PSohe BB S ?

(©) D% Do VPSS 100y SoldS Sa.
ol
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Answer the following questions.
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(@) aler2fl@l (b)  GHOalo (c)  QUOBE) (d) ewo

3.  alv@lsmeonlo @adEmee]s Qlbato :
(a) 1812 (b) 1805 (c) 1815 (d) 1800

4. gy eeAlEOHOMOEN G(B0EMAD UBlakEOIS BROIMRIOAIS®) ?

(a) OEOHHOMT (b) elsHyo () alvesd (d) adeilolalo

5. 6alo@o — @OAMOODPI®Id.

(a) uouUdl (b) @0dQo (c) Qfl#ono (d) @HOalo

[ Turn over
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10.

11.

12.

13.

aflwepmie — Aflaldl®malBo ag)Pi®id:.

(@) @oadlpave  (b)  @owdEo (c) @060 (d) flwoavo

oo afldenailenie — @omyEimo

(a) @@aloiumd (b) @oa)leocu® (c) Alwy qmomoe  (d)  BI3] VMOV

gl2mom — emEl GO

(a) &lLemom (b) =blemizoav (c) =Koy (d) edlzemom

ag)enId — agend + M0 — vuflo@ay ?

(@) Genalouaull (b) @owamawWl () @@eactecumuwll  (d)  aflmimuaull

M@ MyEmo 6 21W® — HOLIGA® ?
(@) @oadlssoelo (b) EJ®HOLIo

() QUBEDDOMB:OLIO (d) W

‘@000’ ag)m alBo a@®) alleslaiddaaqlsymy ?
(@)  ld@Noales (b) ©c3ulls

() @deaudls (d)  oentmulles

alB3)B00 QAN o] @IOYWIRE C.0I0B)EBRRHE) SEMOODLI®IH. (12, 13, 14, 15)
Read the poem and answer the following questions. (12, 13, 14, 15)

QUIQOBH] aleens @) 2flenlo® HOM6Mo

B$H0Jo HMldhalo elalla)l allomiealod

HOFIOM, HOLIGBREIZAE GalSlal)

afislend #gleieo @loweniod
@OOYOS QUOBHEH-oIAL ?

(@) dmgleeoess (b))  @Mauyd () ®aasens  (d) aldllacd

afislend #5leie@o BmSM®OT ?

(@)  Rem3 (b) @ORBEROOM ()  omiauyd (d)



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

ay®y Hflmdleal aldlagoemial ?
(a) @ (b)  BI06T3) alOETH@

(c) aldowoAl (d) @REPIY aldlde

60D HAU® ag)PIEl@®mOd ?

(@) VNI (b)  BIDOOMOUDOTD
(c) coeRd coemOsOM (d) @pHemo
alodg - II
(18 @od®s) )
@00 - 1

@EEN3I @JBMMNI LIOHYOIE MO0 af)Pi®id. (agomElaljo MIaeLlemo)

Answer in two or three sentences. (any four)

Al gyTVOMIHOM0 BalOIM (NIREBDBNIC] ] GRIELB:M alOWIMEMT ?
®eleojodleon maleway milallaeanl ?

a10¥0 QIS MSHHIME @6 ?

60000l LOfle)HSOM BHOVEMEDNTY ?

@(306M0210MYd UBlakjBMIS @DAIUNYEQ|SO®NT ?

®o0gled O®BOUC ag)eaEemM@IMloyMy ?

3900 - 2

a@e®®Bleljo @OERINEBTIM HEBHOODLI®ID.

Answer any five questions.

@OW al0ga 108l e MY®Do O21®}. (B AUOBMOLOH)

@OMMO@ ag)(M alBo aR® QNEHBIWIT ealsimy ?

8503

4x2=8

5x2=10

[ Turn over
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24. P@IWlalm &HiRloslo el o). (lnIe@omo MmoQdh)
25.  UBlayyd — entoeidd (ag)@ildelloteameimid)

26. @OCYO DOMND} dha¥So (92N®mMOW oflamo G oIBHEL)
27. &gl agmeeom aelloy S (emal ailoyermids)

28.  EGRUOMD MoENIMUl @), HOYE® cactlo (BRA|BAOHNIH)

alodg - 111
(18 @od«6) )
@90 - 1

a@o®®:lallo EMENEBIM OEDOODPIOId:. 2x3=6

Answer any two questions.

29.  asglellelloymy @oom Hens #0090 lshid ag)eDIOSHQoN ?
30. aloRdQ®l WIOIGMOS alOemHOM®MOT) ?

¢ 3 $ 9
31.  g)euBOMEWVLRMWEEIE0MIeNT Hall ©eTflews alo@M® ?

3900 - 2

a@o®mElallo EEMENEBIM HOMOOALI®H. (34-0 2O®D 62loa)EHflay mldenimwacwo
HOMOO af)PICmENS®I6NT. ) 2x3=6

Answer any two questions. (Question No. 34 is compulsory)
32. &0} almoalmieElan miniemenisomlen Slold® m0auimo] al®hlelal MVl
lleoatemBd ag)emI6HE ?

33.  HLI0OJalo WWOHHIFBIM MM Ao WAOMETBERA! ?

34. (a) Ydlee0 aflen) BoHSE agsmBem ?
(TSR N [
(b)  BGBHOS OB MEmOato MOWEOIM Yol agmowieymy ?



35.

36.

37.

38.

39.

40.

41.

42.

B80Wo - 3

afomB1allo EEMBENEBIM OEDOOHRPI .

Answer any two questions.

HOhEl QIO LldhHeMeNIES] HEIAODBE) .
Glatd01800@ IO AlBUeMAllo HBIAOMEMAI0 ag)PIBd:.
BH00®o — @OHIBI®o AN B>

alodg - IV
(25 @od#6) )

Qg0 B 2IBOTMI0 HBMOODLIDId:.

Answer all the questions.

8503

2x3=6

5x5=25

(a) dlemgies allgpri@ED@ 0D Aldato MSAM BI6MIGERI0aH aldlaloSlOWHNICof

MVIAOIOTIOHMOD] HODDLID .
@R 81 @D

(b) lemtd MmdUlle B0} 2IBI® (EIOWOMIMIBR MNRIOEMHNIC] 2] TVIOIETIOHMIDY

BHOOTDLY® B>

@@Uo@o Qflal)elldGla] ag)Pimids.

(a) ®@al 20M ag)en CMWHOHI
@ 6L 81 @D

(b) aleimgs] ealoieaigso

“lal8WesnsSidld:alo, BlOI®OMI0M (el UREBMETBRL0’’
£ 0MIBRINOBTI@ (Il6vBUWD MSEBIM ([ ITVOUO BQYOOIHE) k.

al00U0R! ag)M HAN®QHE BDAVOBMODLI® .

al@yeomo alidlallends
Quote from memory.
(@)  DHOOEMBOIOIOM ..o
................................. al0¥ajialsynil
@ 6L 81 @D

agM@leomalgl &0}

[ Turn over
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43.

44.

45.

Qg)RJ0 BI0BITBRHHI0 OBDOENLIDI:.

6

alddg - V
(24 22d®6))

Answer all the questions.

(@)

(b)

dh)MOOMOU0OMHNIGL2] elea) Aflaidsmo MQOOIHEId.
@)@

BHiGlaly EN®MININQ ®AIHHE 2ltmialemio GREGAOOTIOHNG WIGLMIOHEOBWI0
iG] eleal allaEeMme i@ ids.

eodleml alely 801 — ag)M HLAWIOS OB af)PIMids.
@R 1M
(@I0®E — (M HLOWIOS EOIOUYODO ) LIMdb.

aflgyod@maléglo  Ala0@lalcod@maemsalo — oM AflaH@eEDEOI0] 2
BalMPOMIONLI® .

@)@
odogylas moellmjo — aodgadld aflalem — a0 alla@eEmHNIO] o)
BalMPOMIONLI® .

-00o0-

3x8=24



No. of Printed Pages : 5 8504

Register Number

Language — Part I — KANNADA

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Zpwsne © (1)

()
()

T3, BB T FFFRNEODE 20T TOBRLENY, IFFOHY HTFAR 3003

facscf) éiwﬁe BRTS ;’be@md%@ﬁ &9D.
emgmoo DO PTo FIY %éoofoa’n eFe3eR.
SBORB ms &:awcsm TBRBINYR 9DT0T30N médwa‘n 2803023,

o — 1
PART -1
(15 ©osned)
&rawdm ol gé%m p3felessrla] emgdwm% 308 WICW0. 15x1=15

Choose and write the correct answer.

1. TII% Q0T3
(©9) TeaF

(e3) Qe (Q) ©RFI (3) AITe

2. OBNEFOD wsoaésmf 50935

() W

(3) 9% () oW (85) BIROW

3. OTo3Fo03ANR QT ATV .
(®) 3D WIREF (83) QVLONID TOOTN
(@) THTT TOTIK, WIBSE (88) 33 B

4. QD W&o Sooﬁaa%@_éd@ PVTRTBOFHBOSIONG -

(©) 8

() & () @R (83) @

5. ‘Tem0d’ - B I WO

() BOMmoo (Q) =FOBTO® () Beansow

(¥) IO
6. %émaéojaeg NOLNT .
(¥) TPIP 2T (8) Q2ecdm P8 (V) T/ VLT (38) ABwe DY

[ Turn over
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7. RDIMOO DO
() ™ BOY (8) RJeeE Lepe Z0H
(B) e BoY (%) ©Be3 B0

8. %ée@oﬁ% QTN YVTOBITTH :
(02) =Be3 () g (@) ©oded (3) =03

9.  WABYIIVT TR .
(2) &)e%mﬁ (3) eoonieTd® (Q) TVTIPTL (8) 3B

10. T©.09. e3e0TONT/T FOTJTIR .
(®9) &eQw0x (83) DJIVODB (@) m’@é@r (38) ©ONFTIIONTY

11. BRFF TR TOTTRBERNGD, YITTIDT TRDTTERES 20 $rHD IR0R
(®) ToQ ABPR  (¥) QD INRR () SHHT TXPR  (85) 03P ASPA

12. ‘IHorid o038 FHown0wd’ Q02 mwéwsacl Te8ATID .
() %wmdmés () o (8) ToFw0T (33) O3

2
13. FOTR, DOW3 —— QODNZNRTRY, PRI ToFTONT.
(9) ©O0TTT () T3 (a) NIT (83) xoxé@écs

14. 303 TFTYT 263, BRI .
(=) 44 (%) 54 (0) 64 (83) 84

15. F=T - 88 TEBYST BSWoHFFE T — .
(2) TOoR (e3) o) () ™D (38) @&

on - 11
PART - 11
(18 ©o3neh)
~en -1
%@%&w @%ﬁ@@) O350F)TOWTR moﬁ& SUZORO. 4x2=8

Answer any four questions.

16. méoﬁaa"@orv‘ O3RTY 9P 33 ﬁsﬁﬁd wzﬁ\ AR ée@c&gﬁ 9

17. P03 CSRB-0IRT FRFASH HHFACIRN, ?



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

3
F0we0 IR 03T 3N @%6@3& QENFRATI 2

“e950n” emgd 230 mma% DR
wméx QOTTEZ 9
333, TTIZ — B8 wcjri%fabol WER sdoé mﬁs 32320.

R —2

BRLTT BINTY 03RPYTeTTe @d% BPE, FOZTeON YLIVAD.

Answer any five questions briefly.

TRTOOI PETAIN DFOTD TePTE 2

AT 0O BEOBF, DONTBRH 03| 0ed TEEODH eRTH) ?
BTR® TOCWOD WAT BRTJIR BT 2
O30T BJION B VCTWT IOTWET:e ?
JoFon, rb%eeéd - ABR WIT TOH TFOA.
2308, FOTORT — JHNYI, VR, ATPI TIOA.
ROR/NY TPaF =R ?
o - 111

PART - III
(18 e908Res)

8504

5x2=10

3RLITT TBAYY TS RNNOT  CIRPTREIL AT TZNR BRI, ©IOR0. (34 S¢ T,

eplew))
@

Answer any two questions from each section. (Question No. 34 is compulsory)

apon -1
T3eTOOODNNS ATIIDF T RN WABEYTRVT FTNTIRH) ?

BOTOB D0 BRI IR WORT ?

wméﬁd $38-09833 &)75\ BROD LRTVONZCI ?

2x3=6

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

40.

4
R - 2
Wewd 9T BH-STOINW PR ?
&MCSW%SSS 030N wWIBoWD.
3 BT, RS, TREFREA.
Quote from memory.
(89)  SAT ceeeeeeeeeee e
............................ RNSROT[R  FOFS |
[Slofvo
(¢83) EOTDROD AOTTT weveeeeerererererrrrrnnnnns
.................................... DeIToTIN |
A -3
xoxé@s RORNY, BROR.
@5713 TRRE ROTTEI 9 NVTTTH BRB.
IoRBOTOTOD F3eBe
30T &OOD Iriont Yesdn
BOR a&ﬁe@uysﬁ TOTOL), TOTRD |
- 8 TTLPNE TIT TsO.
won - IV
PART -1V
(25 ©oBR%)

3RLITT TS TFRR $0ZOLD.

e Y
Answer all the questions.

() %zﬁ@mds& mgo&@m& B0 ‘BeRTOT RIOBN’ 03Toy)w) ?

[Slofvo

(83) TEeIOZ RNV wammw@ T JONR aosgﬁbw%d 9

(2) DTTET BROCINES IHAT BOWITT FOTOTB/I), B0 TOWO.

[Slotvp

(¥) JRTT WFEON TeNTBeBoTH B TeLTAT ?

(¥) BoBIONNRD BPPYR) ? VRNE 1} 3CW0.

[Slotvp
(8) TORD TOW DWTHOT FIFIW, VWOR.

2x3=6

2x3=6

5x5=25



41.

42.

43.

44.

45.

5 8504

QI 1O TF APFODF B, FORTOZ 30D BURHTONYT 2,00 T, LTAWD.

() ‘DTIFT [P’ — 85 MOSODZ, VBOR WTOWO.
PO

() 38 ©of MOTAPR FOIPT TIW® MOTNT, LTW.
(i) Health is Wealth

ii) No pain No gain

iif) Work is Worship

iv) Knowledge is Power

v) Haste makes Waste

o~~~ o~
~— —

N -V
PART - V
(24 woznsd)
BRLTT TINYI, YZORO. 3x8=24
Answer the following questions.

() DPTOITD BePOORTY IVT FLIORI, DTOA.
Slatvp
(©) =BPVT B SHFT Smk’éﬁ@ﬁ ‘00T 3:?‘; TOWLED TeR 9

() PORY DIFRTT DIAT e TOFHOT WeOT FONET TOATB/I, LBWOX.
Slatvp
(8) TP ToBBB|IPOOIIN WHRT FOTLIF BT, DW/OR.

BRLTTV DTODNYY CSRPTTETH 20T, WO TLOTWRY, LTED.
Write an essay about any one of the following topic.

(¥) BOTRWT'I T,

() ®IROL, z’uawe@momrbw TODOR.

-00o0-






No. of Printed Pages : 7

8505

Register Number

Language — PartI — URDU

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

Instructions: (1)

2)

15x1=15

[ Turn over

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

UL Wi s flpyd Lespile (1) 1S
JALA ki Lo @)

PART -1/ Jil -..»

[15 Marks]

:éﬁglﬁ(é; ()]

(Choose the correct answer.)
_yygjfﬁkﬂo/a/}@g/gﬁ;f’{éfé ..aé 1

ox (@) ! (&) )
&y L JL ST 2

Sed @) Sufue (O sbef (L
PSS o 3

@) 3 () be ()



8505

G Sty
@) v (L) )

-Jtlme Z &L
E @) fe () o (L)

-yi’l/}:{/g”’{_/? =y C’//i'p( Iy /f
ezl () A (&) SN

(Match the following.)
(o) (L)
Afbnz () HenSGlahd e

&C’P‘JM (if) (jt‘fd/:«ﬂé

GGl e e 0P TS (i) KOS 2l
SIS (W) Sas

iz ()

(Write in brief.)

N R P s

¢ o i

¢ L FS

s gffui-n()’fin’.ﬁn;(PJ b5 % Sos

¢ pUIE L

.10

a1

12

a3

14

a5



4x2=8

5x2=10

[ Turn over

3 8505

PART-11/ (% -2
[18 Marks]
SECTION -1
: ﬂi’;«@’ﬁé 'S J:;J:c«wféd.:;’@/;
(Answer any four questions.)

S bl g gU AL

?L/UﬂG/"fd“/& Ll sl shl e
e G inf L eud L8
?9%;ug(/ugj;;/fLﬂ

e b U ima ULt

?%Jnd" la_// Ji(f:

SECTION - 2
A2l S el s
(Answer any five questions.)

\PRCTREAIINT
el S ei S
St brlb oL Uil
02 Pt s b an s S s

?Lg rJUU).’.(JWKH‘

.16

17

18

19

20

21

22

.23

24

25

26



8505

2x3=6

2x3=6

& e L AL ks
byl Nogh ) e

PART-1I1/ % - =
[18 Marks]
SECTION -1
S AU G e S S
(Explain any two couplets with reference to the context.)
Fosni by e L Flie 37
T8 g JL N (G

A § PPl AL 2 U
t@)g@uﬂtl?u’&ug,
e LKA oy
GUE G 67 4
SECTION - 2
—e G 38 A g zn e e il 5

(Write any two questions. Question No. 34 is Compulsory.)

€Lt BRI oL T Ly A
-é&b) - bL,»l?/{d”U}'KgJU'U/;/“’
sl S Lﬁ)f’@}ﬁgﬁgi)g&!é’.&;b&»@ﬁgi (i)

b
e S et §us 2o SO LarUiei 21 (i)

27

.28

.29

.30

31

32

33

34



5 8505

SECTION -3
2x3=6 -L)Zb.zlwb./'ﬁi)) JKLU:&U’YJ”).C'//)

(Answer any two of the following questions.)

AT LV
0 e 2T sl
¢ duTtusgsdSs

PART -1V / (/g -2
5x5=25 [25 Marks]
PRI

(Write the summary of any one poem.)

= ()
L
)JJT “' (0.:4)

S it Sl G e Ut

(F) Slabisnsl —mmmmeee & e SolJFT (i)
(F) Q}L’autl'g ________ & e /gjurllf (ii)
(S Py R P e \Tr (i)

[ Turn over

35

.36

37

38

39



8505

6

: éy'ﬁi&U'}/ZL)é/}'ufZL/};}((E{J:}@/}

lcs

B pi
P
et
n(@:ﬁdﬁ
I o A
net WAl

e bt W B zi (i)
e (Coby L1l v (i)
‘e tnfe SIS (@)

UVt (v)

b Ut

W B vl At s Ll g ()

b

s it e tperin§3eF ()

40

41



(i)
(ii)
(iv)

3x8=24

A bad news travels fast.

Be just before you are generous.

Pen is mightier than sword.
A stitch in time saves nine.

As you sow, so you reap.

: é,ﬁ}ufuﬂgu:ﬂb’cﬁd:;’

(Translate into Urdu.)

PART-V/(* -

(24 Marks)

I B S A
:JL‘WLUZZ?A‘_U.'?J'A':{}HJHUW (a)
L

Sy AN TR ()

; é{f:ﬂl} ug(j:’/cufd:) (Jrdr)
3%5')50!)’ (@)

b
O ()
=Wl ek (a)
b
Ul (b)

-00o0-

8505

42

43

44

45



No. of Printed Pages : 7 8506

Register Number

Language — Part I — HINDI

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

T - 1)

DU 1 Il & AT T T ot We i | Al Toosdl B Sig T TR 3, @ gia
hefl THoaTeh ohl gfed i |

T Bl S e & foTT A I hTA & BT ST R |

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline.
HIT-1
(15 Marks)

TE I IR fafae 15x1=15
Choose and write the correct answer.
1. RS I T T T |

(37) A (31) bt (3) FT= (3) s
2. srie T WA 1 S E T gaT ol

(31) 1875 (37) 1865 (3) 1905 () 1900
3. WA % YoM 9|

(37) feeedt (1) (3) I I (3) m= W
4. HERH TH W & fau Fdie qeeR fhen|

(31) AYaa CORCN (3) @ (3 TH
5. HEA® YIS AR e

(31) wSrE (31) Sl (3) RIS (%) Hwrsit

[ Turn over
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10.

11.

12.

13.

14.

15.

I 6 o - i

(31) Gd™ (3m) <y (3) IHd™
et q ot 7

(31) Ypfd (am) I\ (3) RE-YSH
gk R Tl ¥

(31) wfe (3m) wfe (3) Hfw
Tl G T IS T

(37) YEdrEs G (1) Shfder=es 911
(3) goHAMES T () fodarae G4
YoM % ag |

(31) =R (3m) BT (3) U
foran-fagmor & Ig T

(&) oM (a1) =R (3 @

@ & 39 99 |

() 41 (3) 45 (3) 35
e 3 Hifelsh 9 HiT |

(31) &R (1) TEfhe (3) FamS
fiearen  a=di ! Sgoldn o1l

(31) T (3T) TR (3) foccmeRt
IERH 3 ot &t S 9§ I ot

(31) 3137 () ==t (3) TH T

©))

()

()

()

()

()

©))

©))

©))

SRS

40

o T



3

T - 11
(18 Marks)
AT - 1
for=dl = el o dfara Sw fafaw |
Answer any four questions briefly.
16. Bfercieror Ta w1 5= Fa IR FHel gal o1 ?
17. gl ot = I F= 8 ?
18. ot THu fe feTet fora-fora geaerl @ 9ftd gu ?
19. Sl i SEd St & feor-foha &= o Bt €2
20. HIEH % U2 T 1 HRO F A1 IR I7 T F ol 2
21. ¥R % Al & T HHA-H IS o1 ?
3T - 2
fer=dl uT=r w1 % S fafaw |
Answer any five questions.
22. W1 fRE FEd €2 W1 & o 95 €2
23, ‘T’ IR ‘e’ fohw AT T 3SR | 2
24, T {8 Fea €2
25. Y H1 TR AW 1T ?
26. HIcTaTah fohaT-foasioor fond wed ¥ 2
27. oA fohdH TR & B § 2
28. T Y=l o foTT T vsg fafEy

(31) 59 & =t eTea = -
(3T) it hee YMRTER Il & -

8506

4x2=8

5x2=10

[ Turn over
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HIT - 111

(18 Marks)

3T - 1
fer=t 31 el o S fafay |

Answer any two questions.

29. HERE™ 7 Y9 & Ted ] hd U B ?

30. (=1) Hftrefero o agyfH st 9 e 7rd € 2
IrerEr
(3m) W foman 1 FE=01 W+t Jole 9491 o € 2

31. ot THuTd fHE foqet @0t 9@ el & 9m fafan

3T - 2
Tt 31 9l & S faf@w | g9 T 34 ifas §)

Answer any two questions. Question No. 34 is compulsory.

32. WE 91 e faray
(31) 7= ereal W =fad o
(3T) Y SR T A0 R |
(3) fad iR 707 SHI A=< ! a%g BT @1feT |

33. o= ST :
(31) ol T Uedt ¢
(3T) TR A Siell ISR |
(3) wiew @ fag forelt

34, (1) Yg &N :
(a) W ! faarst ¥ gl g R
(b) I% IHH H T § |
(c) AU @
arerar

(31) w7 fafEn :
(@) ¥ —
(b) STITE —
() e —

2x3=6

2x3=6



5 8506
STTHIT - 3
fordl & ool o S fafaw | 2x3=6
Answer any two questions.
35. Ereren 1 S o ?
36. ‘99 1 Ted’ HEHl ok YHE U HHE-HE H € ?
37. YIeYA U9 el SR HT TR SIS ?
T - IV
(25 Marks)
[edt urel vl o I fafeu | 5x5=25
Answer all the five questions.
38. (31) Ui smifvg
SRl —————————-
————————————— ERAl
AAAT
(1) HYET AT HIFST
ferm fSgen aEd, Fig T8 9 9ar |
3TY @1 hfg iR TR, St @1a w1
39. hI3 Ueh U7 faf@u :
(31) < ok, &, TR ARG | S=d WAl Wi & o ma Ysives s T yiefqn o= fafan |
SbE])
(3m) forae =R, T2 feoelt 1 3R T AHURA ThI¥H, SATSEE ol TTed AT 9 it R &

U Tk 9o T |
40. STUST H STAR T

Translate the following into English :

(31) g =t =il % 9 <red | |19 1 wifa S @t 7

(3M) - YeTe W Fed W §, -cai gal H W07 a1 okt sl 30l et 2

(3) Aa=T1g SH 1 9% Hifsfeden AT & falw ¥ 1913 H Aieidl R IS foham T |
(3) TRIS sIea i Ashehd THT ST & |

(3) Frcdad Fam iR @rett ygfa =1 =afw o

[ Turn over
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41. Fr=fafea T F g geE % S| fafan
Read the following passage and answer the questions given below :

Teh IR WM 95 1 TEReE IH @ 1| 3 Tk Fart frer i) 98 Tore 38 o &l 39e9 33 o |
it = 3Tt SR AW 7 foon, Fiifer Uy § U WA & o W1 A1 | =R ! agd shieg T 3R
T 5 o I SRR Ha, - R T et de €, 9% B 3w T A R 17 g8 A et - W WU
A1 TERE 3H I5 F UE A T gg 99 forn i 98 dH-uR ol @ q@n 1 3= 38 e e
faamn iR 9y 99 fear) g5 7w o Suk fau o1 B U or 3iR SH uiSH w9y At
STarehRal off | afE 99 &% Y § @ &I Sae 9 W A a1 SH IUSH o7 § RE ey T e’

I

(31) TERe FI ARIS g3 ?

(1) foramt = 1 =76l g ?

(3) Tl <l @ g5 7 = fohan ?
(3) Fs 7 fverl & I H %1 w81 ?
(3) 39 ey & SfEd viYw Sifem)

42. (1) @& fHam =ife

(a) T R L CEICED
(b) < HX wUS - YyHarEs fha-fagmo
() WRFAMIA@@ S - eErTEah G
(d) R - Yy 9oam
(e) - dREvEEE faRm
- 3uE
T
(1) T& foem wifse
(a) e - IYEHE
(b) = - g
(CERSLEREED - fRiveys
(d) 99 H A - =
() g - T e



T -V
(24 Marks)
|t gl o S fafan |

Answer all the questions.

43. (31) Yguu W ey foafEq |
Jrqar

(31) FHeAg IR TAIR Hfadr o1 qw fafam |

44. (1) d@pfa iR e W feunt fafem)
AYAT
(1) ‘Sfaa siR freror’ are o1 wwiw fafew |

45. (31) ‘focEden’ werl & 9riy fafay |
AYdAT
(3m) ‘a5’ wErt w1 9N fafEy |

-00o0-
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No. of Printed Pages : 6 8507

Language — Part I — SANSKRIT

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Note : (i)  Answers should be in English, Sanskrit or Tamil except for those which are to be
answered in Sanskrit.

(i) In writing Sanskrit, Devanagari script should be used.

PART - I
(15 Marks)
reiferaar gy aqfed S foram 15x1=15
Write the correct answer.
1. <Ta- i) s@menemr (i) ey (i) wTED
2. g - () e (i) &g (i) &G
3. fm- (i) use (i) wHwibd (i) @rey
4. A x (i) ST (i) Y (iii) L&
5. AT x () gEH (i) ST (iti) H=:
6. fom x () (i) o: (i) b

7. H@pfd: + T - () Hepfaum (i) HEpfaw (ili) HERAT

[ Turn over
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2
8. o+ Mg - () o +3fy (i) oY (iii) aAsTy
9. TR () e+ 3 (i) e + 3fur: (i) e + I
10. HrisfE - () HF + s () ¥w+ 3fy (iii) AW + AR
11.  OIf=ERand - G) U9+ ferafa i) oo+ Merafa @) a: + ferafa
12. Id9 - G IF+Ta (i) IAM+ @ (iii) IS + W@
13. 3IHA =FEA 9 fasf |
(i)  SreE: (i) Ea: (iif)  &FE:
14. g9 ool T STy |
() == () T (iii)  T&rAOT
15. < ST |
(i) sTeefte (i) sz (iti) <M
PART - II
(18 Marks)
SECTION - 1
SO YYTTH Tehue 3t forad | 4x2=8

Answer any four.

16. T&ieh hul HE@I?

17. Ao IR IR Hifqween: & ?
18. HEHAWT T TGl wafd ?
19. & o guIiE: W&t ?

20. i Ted: == 99N ?

21. depfear foh 7 FANq ?



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

T YIHT TehUed Sai forad |

Answer any five.
Yo qXd: h: MY ?
SArRraR e fSar: i i< ?

AN & ?

FS TP doaiesha] AMI foad |

TAT: Y9t IR feraa |

Answer any two.

FEITOTT TRTIfe: 01 |

HiASE A& fohe ?

quIEY fhH 3TTeei= ?

3
SECTION - 2

PART - III
(18 Marks)
SECTION -1

8507

5x2=10

2x3=6

[ Turn over
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4
SECTION - 2
A gyl IR forad | (we: 34 3ifar: ) 2x3=6
Answer any two. (Q. No. 34 is compulsory)
32. WY ya: & < ?
33. AFRMEH HOIC?Gh: % ?
34. (a) USuAHE WAl & ?
37e1aT / OR
(b)  3TfceRfd: w: ?
SECTION - 3
A e uTT feree | 2x3=6
Conjugate any two.
35. U3 ¥l &g & fored |
36. ¥ (¥9)HTAl: I w7 fored |
37. 93 Wl qe ®WY faed |
PART - IV
(25 Marks)
TP YFTH ST Afaeavur feree | 5x5=25

Answer any five questions in detail.

38. (a) WS 3 U YeiRgE AT |
SLATOR

(b) TRfcTehrd: Teilshgd AT |

39. (a) foamere formas fored |
TIS/OR

o o

(b) e formys faferad |




40.

41.

42.

TEATRAUT fora |

Rearrange the sentences.

(a) IfTRY: SMERfEd: HYASH = Hafd |
(b) I w=nfoT i Sugsa |
(c) oTfe Sl Afestenmuer: |f |
(d) T TEUEce FHTE |

(e) hveH G et wnfor gea= |

ATE fSAT YA I forad |

Read the following passage and answer the questions.

8507

MM T &0 IR AR o 9 AMYaHd | R : HuE: ¥aid | fodass
a7 gfg: Tl | STHEHRT ARFIYS TaIfd | Sk ¥s 7 S | Siherd Siwd fi = e i |

YT :
(a) hH WaTO TRICH a aeid ?
(b) T wa s 7 Sfedd ?
(c) TR W: HIgW: ?
(d) T 9&IUA g weid ?
(e) T wom i fid = wafa ?

(a) rIaTE A :

Translate into English or Tamil.

ST SRR ShYTeteh] T BT | TH STaaied e Fell: famaaf-<a & - I hATgurA
o3, dfe Ar=qeEas HiSH Afasfd 3 | 981 Thd Je oo 3 - Fal FfGIHan 318 70
qrufaaes 31 9: HYAderReHY Tor 3am=- ' <a | givEe 5% 3| s ga-swem ?
Fd: FHEM: 31| F: el Tcq - SHh: 3T W aqanary: fhfeen wecdenm geenfd: |

37T e Td waw sTfuftegy s=afd | o1d: Jery STl <o 3|

AAAT/OR
(b) T :
Match :
() AT - Y9 &
(i) FATTERR: - Sioifead
(iti) TR - W YO
(iv) SSITETH - GO, 3{Th:
(v) ﬁﬁw - qaSIferHRy:

[ Turn over
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43.

44.

45.

6
PART - V
(24 Marks)

FATOT YYATTH A I o |

Answer any three in detail.

(a) TRIFHT: Foafagd foed |
JAAT/OR
(b) ‘TR A - T foed |

(a) STfcmM TS e Junre foed |

AYET/OR

(b)  SATETIE AN |

(a) TR Hquiaan fored |

AUAT/OR

(b) Trerss wyuiaan fored |

-00o0-

3x8=24
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No. of Printed Pages : 7

m‘ Register Number

Language - Part I - ARABIC

Time Allowed : 3.00 Hours | [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack

15x1=15

[Turn over

of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

PART - I/ J319175a0

(15 Marks)
SECTION - 1
F el Ol gadl At (@)
Fill in the blanks.
[P/}AS.C‘] -J.AATJ(;.‘L.UJJ}AM .1
[al / dariews 1 - opa Ling Lo j3S0 e Ll i) 2
[/ il sa g Tl apallase o e ka3
[LL< /81,8 ] . dda dass 4
[gas/ siblal oS kel ] oS oS gy .5



8508

e Lall g

o Lal sLeudl

5 Lall ol

o Ll JLesial s

¢ Gyl

2

SECTION - 2

Match the following :

- Ll .6

- ol I gLy Yy .7

- sdlu¥laj)a .8

- csasll 419

- Sy e sl gtale dlll La il g5 .10
SECTION - 3

O gl ol 8 532 g Lie Jad i 5o 31,30 300

(Fill in the blanks choosing correct word given in brackets.)

[ copid e Jaw e yie oK)

daa 5 Ladl 5 gqall Y
Lyl o e La L
sl Josenid
Cebydaivcas A

Aslipl WL

.11

.12

.13

.14

.15

(©



4x2=8

5x2=10

[Turn over
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PART - II / ilifl 5o
(18 Marks)

SECTION - 1

Ll LsVILELY oo dasyl e caad ()

Answer any four questions :
¢ osa Lo Lo yishe Ll Qulidl Josiws Ja .17
Colilldaly g puaill dats gas gl 8 .18
C ol Sladaa la (3 oS S g plai i o< 19
¢ dyie Jlle saalle slild .20
Caale 8yl S .21
SECTION - 2

Y LY o e e il

Answer any five questions :

W oLl Gladl o .22

gle - & oLl A

A1 oLl p gl S .23

Ol - Bam o 6 - G

ol Jaidll 23l Gy ,S3 .24

(o)
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2x3=6

2x3=6

¢ oatiall cualial oo Sl lal liley

Colgn gaal alll 3la g

RN I
de e oo lo ae 0 4G
Al gelna gile a0 08

soroll Gl

sl L il

PART - III / &Jiill 5o 00
(18 Marks)

SECTION - 1

.25

.26

.27

.28

il 4 1 ol Lsall e ) a5 ()

(Translate any two.)

coa oY o e 1y Ll saill i) sa Ll
Baade daaadl Lha e IS il

SECTION - 2

.29

.30

31

3Y 34 3, enula¥l g o] Jol<I iy i)

(Answer any two questions. Question No. 34 is compulsory.)

Loty b L gl plao o alass sl 4l s all Sy o) JUi e el pn 5500 o e
(LSJ‘A.-Q-I‘leJ)-‘LQJJO-Q'AﬁjLG‘uJﬁL)

.32

()
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i ahl ¢ Lus¥1 & Lo il J alag dyle all s alll Jpany o e ll gy By ol e .33
(b 153) 4l gy el Lol 51 &5 ity ale T 2 La Bim (o185 35 oY) dlae

SV Ly o pls Lot plang dole Al o alll Jguny JB Jli e dll iy ols e () .34
(abows ol55)- dtan 4l LS YT wal 5 53 Vg Birm ol i 3 Lo 3 ¢ e 4l i JSILG

K

¢ a0l Juad &5 Yall lll (5 i< (D)

SECTION - 3
2x3=6 Pl L il ALY o (il e il ()
(Answer any two.)

U Y g 153l 551,80 .35

ALY g il g o padl w38 .36

corulio A Jad g ¢l Ll .37
QT L QU ST
gl ()
Sobaaall ) any  (H)
—MRN Sy ha Jadl (i)

[Turn over
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PART - IV / gl 0I5

(25 Marks)
SECTION - 1
5x5=25 t b ghall alail) <) (a)
(Quote from memory.)
s Wy S cuallsa 0 .38

Y ol sl .39
(Explain the following poetic lines.)
W ke i€ ol dll (5 855 elude
g ¥ o3l Yhdsh
de yie oy Olo uas (10 oS8
sl e lisa Gile il (0 25

SECTION - 2
s elialy 431 enala¥l aa 5 ()
(Translate the following Hadiths.)
ql:tUl‘}J.nsnljle@g;L,Lay tabe g ule dll (Lo dlll J gy JB JIS i dlll pin )y i) e .40
(B Laillolgy ) .ola su pie dcundy g ibd jie die aiba ol sl e

sl dio s pa e Jo e tabin g dale alll s dll Jgsy JIS 215 dic alll iy pole o diic e 41
(‘alumbb)).‘d.cl.a

c eluall o L2 ole 131 abaaell o) a3 dyle el lum alll Jyuay JUi 215 dic alll oy oLy s o () .42
Cpluss ol gy ) g 5o da Gl )2 3 50
S
sl il eelyla s e ol JU5 alus g ol el L il o) tic el ) 500 ol e (D)
(e yillol gy ) el oS



3x8=24

7 8508
PART - V / (uolafi T30l
(24 Marks)
YUY e wal ()
(Answer the following.)

syl gy wuaty 1o Les 91 39 (a) .43

13

K]

Meaio 5 yeall e i<l (b)

Mate Hhill Fow e i3SI (a) .44

13

9

Heae ol 13 S e 31 (b)

Slhall bl e Ulie i< (a) .45

13

9

e Laia Y15 Liadl el Lie wiS) (b)

-00o0-



No. of Printed Pages : 8

Language — PartI — FRENCH

Time Allowed : 3.00 Hours ]

8509

[ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

PART -1
(15 Marks)
Choisissez la meilleure réponse :
(Choose the best answer)
1. ¢Sl on regardera un film.
(a) fait beau (b) pleut
2. Dominique regarde un film .
(a) francais (b) hindi
3.  Cétait une nouvelle a Arun.
(a) surprenante (b) Dbouleversante
4.  Akash était en vacances derniere.
(@) lemois (b) lejour
5.  Sunita a acheté la cuisiniere
(a) au magasin (b) enligne
6. Vimal n’a plus de téléphonique.
(@) carte (b) crédit
7.  Kiran joue au
(a) tennis (b) basket

15x1=15

neige

tamoul

ennuyante

la semaine

a une boutique

SIM

foot

[ Turn over
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8.  Aditi sera si ses parents l'apprécient.

(a) heureuse (b) malheureuse (c) sérieuse
9. Les amis veulent

(a) s’amuser (b) s’ennuyer (c) désagréable
10. Les clients allés en ville.

(a) est (b) sont (c) ont
11. Hier, j'ai la confirmation du siege social.

(a) recu (b)  recevoir (c) receverrai
12. Elle a garantie

(@) un (b) une (c) des
13. Voila un sirop est tres efficace.

(a) que (b) qui (c) ou
14. Je vous conseille bien travailler.

(a) de (b) a (c) pour
15. J'ai mal gorge.

(a) au (b) a (c) ala

PART - II
(18 Marks)
SECTION -1

Quatre au choix :
(Answer any four)
16. Conjuguez les verbes au futur simple :

(a) Vous (ne pas sortir) avec vos amis ce soir.

(b) Nous (s’amuser) beaucoup pendant les vacances dhiver.
17. Awuxiliaire avoir ou étre ? Mettez la forme convenable :

(a) Elle tombée dans le jardin sur le pavé glissant.

(b) Elle vu ce film plusieurs fois.
18. Répondez a la forme négative :

(a) Lucien Ambroise a dessiné au tableau ? Non,
(b) 1II a fait une promenade ? Non,

4x2=8
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19. Mettez les verbes au passé composé :
(@) Jachete un thermometre.

(b) Le docteur regarde les fleurs.
20. Faites des phrases avec ne... ni...ni selon les indications :
(@) nous - avoir - chats - chiens - a la maison (au présent)
(b) il - aime - la viande - le poisson (au présent)
21. Choisissez 1'adverbe correct :
(a) gai: gaiment - gaiement - gaiemment
(b) vrai: vraiement - vraiment - vraimment
SECTION - 2

Répondez aux questions : (cinq au choix) 5x2=10

(Answer the following questions) (Any five)

22. De quoi n’est-on jamais certain ?

23.  Que Tarun pense-t-il du film ?

24. Que Dominic veut-il faire apres le bac ?

25. Que Sangeetha veut-elle acheter a la pharmacie ?

26. Pourquoil a-t-elle acheté en ligne ?

27. Ou se trouvent les chaussures de Christy ?

28. Combien faut-il payer la visite en France ?

[ Turn over
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PART - III
(18 Marks)
SECTION -1

Deux au choix.
(Answer any two)

29.

30.

31.

Mettez les verbes au temps voulu :

(a) Situ es malade, (ne pas aller) a 1'école.

(b) Sivous voulez partir trés tot, (envoyer) tout de suite la lettre au client.
(c)  Les écoliers (jouer) au football s’il fait beau.

Mettez les verbes au passé composé :

(a) Nous (monter) en voiture.
(b) Ma mere (aller) chez le dentiste.
(c) La vendeuse (partir) tot.

Faites des phrases en mettant les verbes au passé composé :
Ex: Mon ami / recevoir le faire-part du mariage
— Mon ami a recu le faire-part du mariage.
(a) Les amis / féliciter les jeunes mariés
(b) II / demander de téléphoner avant 8 heures
(c) Ma mere / fermer les fenétres a 6 heures du soir

SECTION - 2

Deux au choix : La question numéro 34 est obligatoire.
(Answer any two. Question number 34 is compulsory)

32.

33.

34.

Faites les comparaisons indiquées. Suivez le modéle :

Ex : Le boulevard/+ large/la route nationale — Le boulevard est plus large que la route
nationale.

(a) Le stade/+ grand/ salle de conférence

(b) Les cinémas/+ nombreux/les théatres

(c) Le musée/— animé/ la salle de cinéma

Refaites des phrases en remplagant les pronoms COD/COI par les noms indiqués.
Faites attention a l'accord :

(a) Elle I'a rencontrée. (son amie)

(b) La secrétaire 'a envoyée. (la lettre)

() TuTlas rendu au marchand. (le portable)

Mettez les verbes a I'imparfait :

(a) Le bébé crie toute la nuit.

(b) A cause de I'allergie, j’éternue continuellement.
(c) Le docteur est tres sévere avec les malades.

2x3=6

2x3=6
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SECTION - 3

Deux au choix. 2x3=6

(Answer any two)

35. Mettez les verbes pronominaux au présent. Suivez le modéle :
Ex : Mon ami/se réveiller de bonne heure — Mon ami se réveille de bonne heure.
(a) Tous les étudiants/se réunir devant le college
(b) Les enfants/se coucher tot
(c) Ma fille/se guérir peu a peu

36. Transformez les adjectifs en adverbes :
(a) L’enfant a (facile) fini les exercices.
(b) La secrétaire tape (lent) les lettres.

(c) Le piéton est (grave) blessé.

37. Choisissez la forme verbale correcte :
(a) 1II faut que nous (payions/payons) avant le 1¢" juillet.
(b) I est triste que tu ne (peux/puisses) pas venir au cinéma avec nous.

(c) Je ne veux pas que tu (pars / partes) en excursion avec tes camarades.

PART - IV
(25 marks)

Cinq au choix. 5x5=25

(Answer any five)

38. (A) Vous étes en vacances. La nuit, vous avez eu mal au ventre. Vous consultez un médecin
qui est pres de I'hotel. Imaginez ce dialogue.
ou
(B) Dites Vrai ou Faux :
a) Aishwarya habite a Paris
b) Kavitha est allée a un Sabha

(
(
(c) Arun est un travailleur sincere
(d) Akash a de la sinusite

(

e) La fille de Sunita va se marier

[ Turn over
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39.

40.

(A)

(B)

Reliez les deux propositions en utilisant un pronom relatif convenable :

Je lis une piéce de théatre ; elle est passionnante.

En France, nous avons rencontré une fille ; mes voisins la connaissent.
Nous visitons souvent notre village natal ; j'y suis né.

Je vais chez le fleuriste ; le fleuriste vend des fleurs magnifiques.

J'aime le poeme « Correspondance » ; Baudelaire a écrit ce poeme.

ou
Mettez les phrases au passé récent :
Je (balayer) la chambre.
Tu (acheter) des sandwichs.
Il (cuisiner) les plats indiens.
Le facteur (arriver).
Nous (visiter) la cathédrale de Notre Dame de Paris.

Lisez le texte et répondez aux questions :

Chere Jeanne,

Eamon, mon chien est trés joli et fort. Il est tout noir et trés jeune. Il a un an et il est tres
méchant.

Toujours il veut manger. Quand mon frere David arrive de I'école, il I'emmene pour une
balade. Quand j arrive trop fatigué, il veut jouer avec moi. Un jour on a oublié de fermer la
barriere du jardin, il a couru dans le jardin et il a écrasé toutes les fleurs. On I'a puni. On ne

donne pas son lait.

Eamon aime boire le lait. Pendant une semaine le petit chien a porté autour de son cou un
ruban noir. Il reste impénitent. Avez-vous des animaux domestiques chez vous ? Donnez-

moi toutes les nouvelles.

Amicalement
votre ami

Keith

Les questions :

1.

2
3.
4
5

Qui est Eamon ?

Qui est David ?

Qui a écrit cette lettre ?

Pourquoi on a mis un ruban noir autour le cou d’Eamon ?

Décrivez Eamon.
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41. Mettez dans l'ordre :
- Cette année il fait plus froid que 'année derniére.
- Non, je n’ai pas d’ordonnance.
- Et...vous aussi, vous toussez, madame!
- Oui, tout le monde tousse.
- Faites-moi voir I'ordonnance, s’il vous plait.

42. (A) Ecrivez le contraire des mots soulignés :

Il fait chaud =

La maison est petite

(
(
(c)  Voila un sirop qui est trés éfficace =
(d) Cétait possible .

(

e) Tuas raison %

ou
(B) Associez :
A B
(i) Les responsables du sabha (a) aregardé un film
(i) Dominique (b) a apporté un nouveau sac a dos
(iii) Preethi (c) ne sont pas du tout sérieux
(iv) Sij'aile temps (d) pense que le chanteur est médiocre
(v)  Sathish (e) je visiterai le Palais de Nayak
PART - V
(24 Marks)
43. Traduisez en anglais. 3x8=24

(Translate into English)
(A) Karthik : All6 Sunil, c’est Karthik a I'appareil. Est-ce que je pourrais venir chez toi ?
Sunil : Bien stir! Mais qu’est-ce qu'il y a ?
Karthik : Je voudrais te demander un conseil. Tu sais bien comment je travaille. Quand
méme je n’ai pas de bonnes notes aux examens.

Sunil : Karthik, tu apprends les lecons par coeur sans comprendre. Si tu comprenais
les lecons, tu te rappellerais mieux les réponses. Et tu devrais prendre notes
en classe. Tu recopierais les réponses dans ton cahier. Comme ¢a, tu ne les
oublierais jamais.

Karthik : Tu penses que cela m’aiderait ?

Sunil : Bien stir. Si tu I'essayais une fois, tu verrais un bon résultat.

Karthik :  Merci Sunil. Tes paroles sont vraiment encourageantes.
ou
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44.

45.

(B) Arun:

Les collegues :

Arun :

Collegue 1 :
Collegue 2 :

Arun :

8

Bonjour mes collegues. Hier, j'ai recu la confirmation du siége social.
On m’a confié le poste du directeur commercial

Félicitations!

C’était une grande surprise pour moi. C’était aussi un grand réve pour
moi de diriger le service commercial.

Tu I'as bien mérité !

En plus, tu travaillais, en toute sincérité. Tu venais au bureau méme le
week-end pour terminer les projets.

Vous me souteniez pendant la crise. Merci beaucoup a tous.

Ecrivez une lettre au choix :

(A) Ecrivez un e-mail a votre ami en présentant un spectacle de danse que vous avez

apprécié.

Oou

(B) Rédigez une lettre ou composez un e-mail a votre frere en lui remerciant pour le
Smartphone qu’il vous a offert.

Ecrivez une rédaction.

(A) Rédigez des prévisions météo du week-end dans votre région.

ou

(B) Rédigez 10 conseils pour vos étudiants qui vont bientot passer des examens.

-00o0-
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(2)  @viel W sl e @Rl RUEAL GulaL s34l

LI |
(15 Marks)
Yoy [Qsey QA @vl.

Answer the following questions by choosing the correct alternatives.

quldledld sue Ad (Aol 2.

(a) sM-5l8 (b) dU-AMA ()
i i85 SasHi elsil.

(a) &didl (b) zeldl ()
gl o (038 2l 20 O,

(a) Ml (b) elsil ()
25 syl AleAAL disl ounUL S19 Hig U ol 3.
(a) eV svcll (b) i8R WA eyl ()
TR RS el

(a) SR (b) (& (©)
gatdl elasiA L.

(@) Rlue (b)  dfsr=tnl ()
U otleARA sl 9.

(a) Rl (b) 818 ()
Ioretetl Bl [y ell.

(a) [Asud (b) aldid ()

g§u-lst

YUALAL

ofge

EL5cRA Ued 3l

HER

(Qud Az018

HERISY

AUHIDS <l

15x1=15
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

2
ey W H2sc ¢AAUR ¢,
(a) Ay (b) &sdld
215 24 28R adeicu] UYELEL Y O,
(a) su- (b) HuA
MR AU 2ALBIE U,
(a) 1950 (b) 1946
SR ald gl sl
(a) HYa- (b) well
S RAL USR B,
(@) A (b) AR
2oL weardl aldlHl 2ua el
(@) R (b) Gogs
222U 9USL ussall $IR A drdl Ueedl el el
(a) AW (b) SR
oL - 11
(18 Marks)
[Qewet - 1

SIEURL AR UALAL svelloL UL
Answer any four of the following questions.

5[ g 9] 1A 58 O
sQERALERL SIA 5 © 7

e AL Sedl HelsIedl © 7

saAl ol 2w e der-2sr $A O 7

siAlL €20 sl 9512 Ul azl edy 7

510} 24 sy G611 gl vpieid i 58 © 7

“LeL

YA

1947

251U

£

35dl

AR

4x2=8



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

3

[Qeuat - 2
SISl R MBIAL syl AL

Answer any five of the following questions.

oAl wedstl il A 9 ¢d ?
s3] gl uR s34 3H iU 2L D )
o] HeropR (Giggs sl svde ol HidL © 9

243199 200l YsrRUcll ACE AUl :
(@) [l
(b) %al

] 208 @ul.
(a) ud
(b) dlst

efRlsyedl etdeid A g ¢q ?
gRatue{l Al ugMid szeuell o w7

QUL - III

(18 Marks)

[Qewat - 1
SUOL 0L MBAL syellor 1ML,

Answer any two of the following questions.

MiRarl 2scti ulds sleLd 7

(azeensdl 210€ quil :

(@) Gw
(b)  @rdl
() A

el w59 g sre ¢ © 7 3] sreuell walld et 2y 2lrey wal 7

8510

5x2=10

2x3=6
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32.

33.

34.

35.

36.

37.

38.

39.

4

[Qewa - 2
SUTUSL G4 M2 sveller 2L AL . 34 5320U1d. 9. 2x3=6
Answer any two of the following questions. Question No. 34 is Compulsory.

il 2lesq 28 (3536 @vil.,
(A1 Loy eAedl v sul 2 SUIR AL ¢l ?

(a) gl 3R sui 209G © 7 AuLBearaWRH S )
UL
(b)  51M) A A4 NS Al su1 syl ¢l 7 2L UL 7

[Qeud - 3
SISVOL O ML sYelle UL 2x3=6

Answer any two of the following questions.

AUl vl 241,
QAL Sl USR © 7 sULSAL T

(31 [A2imel el

(@) ddRdRwa9.
(b) Al 2yl €1 9.
© dYRAAD.

AL - IV
(25 Marks)
€25 UL syalled 24, 5x5=25

Answer the following questions.

(a) gl e 3R Wt UMadell.
DL
(b)  ddstell [CEr Uudl SRl dgAl duIRL AL |l

(@) Al Alorid U1l A lendl dA ol el 25t dd el ddl 26t Hivldl At dHiRl aelRUESIA quil.
2yl
(b)  AHRL (AL sreH[EaA UR Al 2A[GAgA Wstl YA Qv



40.

41.

42.

syl 2AqUE $3L.

8510

Butterflies are found in gardens. They look very beautiful with all the colours of rainbow.
There are about 50,000 different kinds of Butterflies. They fly from flower to flower to suck

nectar.

AR 2009 21endl il ULl syller 2.

Sl Al oL HE OIS AN . Wl Al Al 24 2484 2R3 Al ofleded Wil 50 240
8. WRIUSIL Aev 2cllsy €14 B, YULS o/ AR HAIA D A AAR YU 2, RS o3 4R e du
QAHIR 2 2, Al H AUR dU dd QAR ANs1e 200 ¥ BER Herul WSl ldlrdl AE2LRIL ©lsdl .
el HIdR g 2 ol SPLSL- Rl DA ©. o/ 2HL YRel seRUEl MEL WER © il Widld o uels

N 9.

(a) gl wad 2ued g 2lma 9 7

(b)  Yuis, WL 24 Al 2l B © 9

€ sldand [Res © 7

(d)  sLLI-§Rid Dart Sin séald 7

() il olevisd Uiy 2llds il

(a)  =dssi alsl.
() otk Al cssl
(i) vt sye
(i) oyl efdl oflw
(iv) Ui €¢ (A= sl

(v) elsdl

(b)  AvQlellrtl QELRLL Ul

- AR Al
- Ul Wed
- eLRdl1R

- R8s AL
- wdRkMEd

YA\
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~HPL-V
(24 Marks)

Al2L 200 UBAL sveller A1), 3x8=24

Answer the following questions.

43. (a) Aweter- s[Adil Haw g ulsa Qi
UL

(b) ‘el sl g ulsa qvil.

44, (a) ‘HRL B ddAR’ YLl UER Wl WR [Hely qul.
§Yal

(b)  sasall cudl [Rardl quil.

45. (a) A2 200 oeudd AEsel 2L

Ay s it el 29 ade gkl Hladdl Ead odl A ©. (Al culsa e g5 e
e, AL GlletAl et A1 9. [Aene[Hl AUl €l dl Riatsl 33 Al 25 ©. sHuMl Al
€l ol et Gl 3 el 25 B, o7 st Al 24 Al A2l ug o st AUl 2 (el uir W
8. aldl Mol AUl 27 (G dlat -l

§YAL
(b) 212 (AR s
svL AL gRaL el s ad ug[ia

gel ol 9 AR, A DA A syl Ve
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Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness in printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and a pencil to draw diagrams.

PART -1
Note : (i) Answer all the questions. 14x1=14

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

Choose the appropriate synonyms for the italicised words.

1. Itis a 55 foot sailing vessel built indigenously in India.
(@) artificially (b)  beautifully (c) naturally (d) badly

2.  The young bird kept calling her mother plaintively.

(a) sadly (b) happily (c) vainly (d) joyfully
3.  No one visits me, he said in an unperturbed manner.
(a) disturbed (b) undisturbed (c) confused (d) undivided

Choose the appropriate antonyms for the italicised words.

4.  Scraping his beak now and again to whet it.
(a) blunt (b) harden (c) brighten (d) smoothen

5.  Nothing he said, gruffly, but he was, in colour, a light green.

(@) unhappily (b) happily (c) sadly (d) worriedly
6.  The disabled face challenges of access, acceptance and inclusion.

(a) induction (b) intuition (c) exclusion (d) extension
7.  Choose the correct plural form of ‘radius’.

(a) radio (b) radii (c) radious (d) radie
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8.  Form a derivative by adding the right prefix to the word ‘nutrition’.
(a) fall (b) fell (c) mal (d) call
9.  Choose the correct expansion of the abbreviation "HDMI'.

(a) Hide Dimension Metro India

(b) High Dimension Media Institute

(c) High Definition Multimedia Interface
(d) High Definition Medieval India

10. Complete the following sentence with the most appropriate phrasal verb given below.
Priya felt happy to the neighbours in the new locality of California.
(a) getalong with (b) geton (c) get away (d) get together

11. Choose the suitable option to pair it with the word “traffic” to form a compound word.
(a) bus (b) car () jam (d) post

12. Fill in the blank with the most appropriate preposition given below.
I reached M. Hamel’s garden, all out breath.
(a) on (b) of () Dby (d) with

13. Complete the following sentence using the most appropriate tense form of the verb given

below.
I had such a shock when the dying man bolted the door and it.
(a) locked (b) lock (c) had locked (d) have locked

14. Choose the most appropriate linker from the given four alternatives.

We are on our way to Kolkata Chennai.
(a) by (b) from () of (d) with
PART - 1I
SECTION - 1
Answer any three of the following questions in a sentence or two. 3x2=6

15. What prompted the young seagull to fly finally ?
16. Mention the special features of INSV Tarini.
17. What did Aditya offer Sanyal ?

18. What was the doctor’s warning to Tom ?



19.

20.

21.

22.

23.

24.

25.

26.

27.

SECTION - 2

Read the following sets of poetic lines and answer any three of the following.

Let us learn to walk with a smile and a song,

No matter if things do sometimes go wrong,

(a) What does the poet expect everyone to learn ?

(b)  What should we do when things go wrong sometimes ?

It never grows leaves,

Not in the winter, spring, summer or fall.

It just sits there never getting small or ever growing tall.
(a) What does “it’ refer to ?

(b) In what way is the tree a mystery ?

“Not I!

My heart was so light

That I sang day and night,

For all nature looked gay”.

(a) Who does “1” refer to ?

(b) What was the nature of the cricket ?

Rumors are constantly being made,

And each day the house just begins to fade.

What happened inside that house ?

(@) Does the house remain the same everyday ?

(b)  Why does the poet consider the house to be a mystery ?

SECTION - 3
Answer any three of the following.

Rewrite the sentence in Reported speech.
Banu says, “I am enjoying my holidays.”

Rewrite the following sentence in the other voice.
Our army has defeated the enemy.

Punctuate the following sentence.
have you come from holmes he asked

Change the following sentence into a Simple sentence.
She is sick but she attends the rehearsal.

Rearrange the words in the correct order to make meaningful sentences.

(a) Dangers/the mountain/of/is/road/full.

(b) Can/get/when/winds/are/tough/sea/the/picking/really/up.

8511

3x2=6

3x2=6
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SECTION - 4
28. Answer the following question. 1x2=2

You are at the Market. A stranger beside you asks for directions to go to the Pharmacy.
Guide him with your instructions.

You are
Market here.

Art Gallery

Library

- Main Road - - - - - -

School

Pharmacy

- - North Road -

PART - III
SECTION -1
Answer any two of the following in a paragraph. 2x5=10

29. Describe the struggles underwent by the young seagull to overcome its fear of flying.
30. Describe the funny incident that caused the confusion in the house.
31. How do we use technology in our day to day lives ?

32. Explain the last day of M. Hamel in school.

SECTION - 2
Answer any two of the following. 2x5=10

33. Describe the journey of life in the poem : “LIFE”.
34. The poem “No men are foreign” has a greater relevance in today’s world. Elucidate.

35. Read the following stanza and answer the questions given below.
The weather is always too hot or cold;
Summer and winter alike they scold.
Nothing goes right with the folks you meet
Down on that gloomy Complaining street

(a) Pick out the thyming words from the given stanza.
(b) Give the rhyme scheme for the given stanza.

(c) Identify the figure of speech in the fourth line.

(d) Pick out the alliterating words in the second line.



36.

37.

38.

Paraphrase the following stanza.

Though our smoke may hide the Heavens from your eyes,
It will vanish and the stars will shine again,

Because, for all our power and weight and size,

We are nothing more than children of your brain!

SECTION - 3

8511

Answer any one of the following. 1x5=5

Rearrange the following sentences in coherent order.
i)  Peter stops the angry waters with his finger the entire night and saves the village.

ii)  Peter becomes the Little Hero of Holland.

(
(
(iii) Little Peter was asked to take cakes for his blind friend by his mother.
(iv) Peter realises the danger of flooding.

(

v)  While returning, he hears water trickling from the dikes.

Read the following passage and answer the questions that follow.

It was Zigzag's voice, clear and commanding. There was pin-drop silence in the room
as everyone waited, open-mouthed, for Zigzag's next sentence. Dr. Krishnan was amazed!
Gone was Zigzag's bored and grumpy expression. Instead the bird looked happy and alert
as it went about the job it had been trained for, first with the African witch doctor and then
with Dr. Somu. Dr. Krishnan’s clinic, usually a noisy sea of tears and tantrums, was
transformed into a calm, orderly place as Zigzag efficiently soothed the frightened patients,
scolded the naughty ones and made the crying ones smile. And if his yam-digging song and
recitation of French poetry reduced the children to helpless laughter instead of tears, he
didn’t look as though he minded. And best of all, Zigzag never slept. Or snored. Even for a
second!

Questions :

(a) How was Zigzag's voice ?

b) Mention the two expressions of Zigzag, mentioned in the above passage.
c) Who had trained Zigzag ?

(
(
(d) How was Dr. Krishnan’s clinic transformed ?
(

e) Zigzag never or even for a second.
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SECTION - 4

Answer any four of the following. 4x5=20

39. Prepare an attractive advertisement using the hints given below.

A collection of Rare books - More than 2000 books - Story - Fiction - 10 languages -
10% OFFER for school children - ANBU BOOK SHOP - No. 10 AVILA Convent Road -
Ooty.

40. Write a letter of enquiry for the following.

Rani hails from a remote village of Villupuram District, Tamil Nadu who aspires to become
an IAS officer. Currently, she is in class X. She notices an advertisement on free classes for
the IAS aspirants by a trust in a newspaper. She writes a letter to the Coordinator of the
trust asking for further details.

41. You are the School Pupil Leader of GHSS Sathur. Your school H.M. has requested you to
inform the students about a trip to Papanasam. Prepare a notice for the students.

42. Look at the following picture and express your views on it in a paragraph of five sentences.

G L 10T i L

A TRLISLILEMDE S -




43.

44.

45.

Make notes or write a summary of the following passage.

Mountains have a great fascination for men and people. Mountain climbing, however,
is not without risks. It is a challenge to the unconquerable spirit of man and his love of
adventure. That it is a dangerous sport cannot be denied. As one climbs higher and
higher, breathing becomes more and more difficult. Some climbers, therefore, carry a heavy
apparatus from which they inhale oxygen. Mountain climbing is dangerous in the extreme.
There are snow storms and blizzards. It is difficult to walk through the snow. It is still more
difficult to climb on ice because it is difficult to get a foothold and cut steps with axes inorder
to make progress. The cold is so severe that the climber’s skin, feet, toes, fingers and tissues
freeze, become numb and they may suffer frostbite. The most serious difficulty is the climber
at a high altitude gets exhausted with a little effort. Mountain climbing requires proper
training, skill and knowledge. The climbers must be well-equipped. They must be in good
physical condition and should possess courage, perseverance and power of endurance. They
should carry with them maps, compasses and other equipment so that they are able to find
out where they are, in the absence of any tracks. They must travel through dense woods as
they approach a mountain and then climb steep rocks. Near the summit of a high peak, the
climbers have to move over snowfields and glaciers. In dangerous areas they use ropes to tie
themselves in groups.

The climbers carry with them packs loaded with first-aid supplies, food and extra clothing
for sudden changes in weather. They display a spirit of sportsmanship and fellow-feeling
and face the severe risks of life undaunted.

Identify the errors in the following sentences and rewrite them correctly.
(@) Rice is a staple food of Asians.

(b) Because Sathya was old, he walked slow.

(c) Slow but steady wins the race.

(d) I ought to be fifteen next April.

(e) Learn a language is always useful.

SECTION - 5

8511

Quote from memory. 1x5=5

She's @ LHONESS; oovvvviiiiiiiiieeieeeeeee ettt eeeeeaees
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46.

47.

PART -1V 2x8=16

Write a paragraph of about 150 words by developing the following hints.

(a) Many years ago China - war - Emperor - one man from each family - Mulan - village
girl - father - young boy brother - cut off her long black hair - sword - Join army -
proved brave soldier - bad fever - Doctor found - news spread - soldiers - unhappy -
Mulan - fights bravely - wins war - Emperor glad - gifts - six fine horses - six fine
swords.

OR

(b)  The year is 2889 - 25t July - Editor Earth Herald - Francis Bennett - phonotelephote -
Champs - Elysees - wife telephotic mirror - phototelegrams from Mercury, Venus and
Mars - Jupiter - New planet Gandini - Mr. Bennett talks by means of apparatus -
abandoned domestic cooking - pneumatic tubes - aero car - Niagara - aero train -
Centropolis - 600 miles an hour.

Read the following paragraph and answer the questions given below.

(a) In 1902, American President Theodore Roosevelt, also known as Teddy, participated
in a bear-hunting trip in Mississippi. While hunting, Roosevelt declared the behaviour
of the other hunters “unsportsmanlike” after he refused to kill a bear they had captured.
As news of the hunting trip spread, many newspapers around the country featured
political cartoons starring “Teddy” and “the bear”. Meanwhile, in Brooklyn,
New York, a shop owner named Morris Michtom saw one of the cartoons and had an
idea. Michtom and his wife created plush, stuffed bears and placed them in the front
window of their shop. With permission from Roosevelt, Michtom named the bears
“Teddy Bears”.

Questions :
(i)  Who participated in a bear-hunting trip in Mississippi ?
(i) Where did Michtom place the stuffed bears ?
(iii) What was the news that spread around the Country about Teddy ?
(iv) Who is the shop owner ? What did he do in his shop ?
OR
(b) Read the following poem and answer the questions given below.
What will you be ?
What will you be when you grow up ?
A dancer ? or a doctor ?
A teacher ? or a cricketer ?
There are so many careers you can choose to do

It's very very hard to decide you know
sometimes you may keep on thinking
Doing many jobs and never deciding,
And on Sunday again you will keep wondering.
Thursday you will chart the skies with the Navy.
Questions :
(i) What is hard to decide ?
(i) List the jobs mentioned in the poem.
(iii) Pick out the days of the week mentioned in the poem.
(iv)

iv) What career would you like to choose in future ?

-00o0-
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Instructions : (1)

GBIy
Note

GOl

Note :

(2)

Smarsg elarss@pd Flurg oidsl udleurdl o emersm erarLSamen
sflurisgs Oararerab. &Ll Gopul@mulder <emms
sansreniliurerflib o L amnguwirs Csfelssean.

Beod g smUY owuloear LLHCL  TWHUSHGD
93 &ECasTg(Haugn@Gb LwearU(hEs Cauar(Hb. LLBIGET eUTeUSDE
Quenfled L I(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@eucilammssTeT BI6sIE LGS aamends ClamerLg.

This question paper contains four parts.

L& - I /PART -1

(i) Semensg NamssEns@0 e wefl&sea . 14x1=14

(i) Gar@ssiul(herer wrHm el seild WsaD ghLemLw alepulemens
Camb0shdss GOUELHLer el ulameanyb CFisg 6r(pse]w.

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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R={(x, x?) | x &g 13 @ A& GODUTAT LUST Ta@m&ar} eremm = maedlen

IFFHLOTEG)

(=1) 2,3,5,7) (=) 2,3, 5,7, 11)

(@) {4 9, 25, 49, 121} (rF) {1, 4,9, 25, 49, 121}

The range of the relation R={(x, x%) | x is a prime number less than 13} is :
(@ {2,357 b)) {2,357 11}

(c) {4 9, 25,49, 121} (d) {1,409, 25,49, 121}

n(A)=m wHMd n(B)=n erafler B -SlmbgH A -&@ cuaTUMSHILIL L ST e er
QorSs eranTanilsans :

(t) m? (<) n™ (&) 2™ -1 () 2mn
Let n(A)=m and n(B) =n, then the total number of functions that exist from B to A is :
(@ m" (b) n™ (c) 2M'-1 (d)y 2mn

W &etliger eu@dse glevans Csmmedleniilg, a LHMID b eTemm LBlens (P(LPEHSEHEES,
sal5s Wend (P(PSHET q LHMID 1, a=bq+r ETEMEUTN DENLOU{LDTETTD, @)k,
I YG) :

(3)1<r<b (=4)0<r<b (@) 0<r<b (F) 0<r<bDb

Euclid’s division lemma states that for positive integers a and b, there exist unique positive
integers q and r such that a=bq +r, where r must satisfy.

@) 1<r<b () 0<r<b () 0=<r<b d) 0<r<b

@ Fl (s LT auflensuden 6 aug o miiber 6 LLBIEGD 7 eug 2 miiben
7 LBIGD &b eramed, AT (HF Ggrieiflengullen 13 eug = mili]
(1) 0 (<) 6 (&) 7 (/) 13

If 6 times of 6t term of an A.P. is equal to 7 times the 7t term, then the 13t term of the A.P.
is:

@ o0 ®) 6 © 7 d) 13

x2—2x—24 M 2 —ky—6-wler B5.Cumeu (x—6) erafled, k-ufler wdiiLy :

(=4)3 (=) 5 () 6 (FF) 8
If (x—6) is the H.C.F of x2—2x —24 and x?2—kx — 6, then the value of k is :
(@ 3 (b) 5 (© o d 8



10.

3 8512

@@ Blyed janfludler, Hleny Hlyed wrHo ojamd

(S1) G el (=) epemeadll L jemnfl
(@) Bly> rafl () ooy i
Transpose of a column matrix is :

(@) unit matrix (b)  diagonal matrix

(c) column matrix (d)  row matrix

aul L gdlem CQEThHCHTHID SiHem TP CFBGSETE WD @)L LD

(<=t) emwwid (=) Qar® yarerf]
(8) wpyailad () BT

A tangent is perpendicular to the radius of a circle at the :

(a) Centre (b) Point of Contact
(c) Infinity (d) Chord

7x—3y+4=0 erarm CpiGariiyng Qearursen dlileref eufld CFwgid
CrirGam_igem Fwerum( :

() 7x -3y +4=0 (<) 3x—7y+4=0

(@) 3x+7y=0 (FF) 7x—=3y=0

The equation of a line passing through the origin and parallel to the line 7x —3y+4=0is :
(@ 7x-3y+4=0 (b) 3x—-7y+4=0

() 3x+7y=0 (d) 7x—3y=0

(0, 0) wOHMID (-8, 8) erenm LaTatlgemer Qanams@Gh CaTligH@GHEF CamGssmear
Cariiger rie] :

1
(=) -1 (=) 1 (@) 3 () -8
The slope of the line which is perpendicular to a line joining the points (0, 0) and (—8, 8) is :

@ -1 (b) 1 (©) (d -8

W

@@ Caryrsdlern e wrsHp@n sigean Blpaler Bersdb@d o drer elgn 3:1 erefle,
Gflwenans sTamild FHMECHTET SeTeT6g)

(1) 45° (<) 30° (&) 90° () 60°

If the ratio of the height of a tower and the length of its shadow is +/3:1, then the angle of

elevation of the sun has measure :
(a) 45° (b)y 30° () 90° (d) 60°

[ Hpliys / Turn over
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11.

12.

13.

14.

15 Q&.15. 2 wiyeplb 16 Q&.15. el Lpb QsmeirL e Chieul L& gablder cuanarLiLliL :

(<=1) 60 7 5.0.15. (<y,) 68 7 8.0.15.

(@) 120 7 5.0&.15. (FF) 136 m &.0&..5.

The curved surface area of a right circular cone of height 15 cm and base diameter 16 cm is :
(@) 60 m cm? (b) 68 m cm?

(c) 120 w cm? (d) 136 w cm?

1 Q&.8. <yrepid, 5 @&, 2 wrepb Carar ¢ wF 2 (HaeruledHHg AHsUL 56
sar 2jere| Carar Camerd Geullg er(HEsLL(OEng crafller oigem sar jereay.
(5.08.18. -ed)

4 10 20
(o) 37 () 5 ™ (&) 5m (/) 5™
The volume (in cm?) of the greatest sphere that can be cut off from a cylindrical log of wood
of base radius 1 cm and height 5 cm is :

4 10 20

@ 3™ by 5™ € 5w d 5™

QarhssiulLameusafled 6rg Seummerg ?

(=1) P(A)>1 (<) 0<P(A) <1
(&) P(4)=0 (%) P(A)+P(z) =1
Which of the following is incorrect ?

(@) P(A)>1 (b) 0<P(A)<1

(© P(d)=0 (d) PA)+P(a)=1

@ UeantlienLiudled T 2000 Grml(haser 10-1b, I 500 Crri_(hser 15 -1b, T 200 CorL_(h&er
25 -1b o emerar. e CHTL(H FweurliliLy wpeppuiled erhdsliLhSlang eTald, bHS
Crr_(h T 500 CrriLrsGeur jeavg T 200 CrriLrsGalr @mUUSDETET HlEDSS56
ereoTen ?

(@) 3 (o) = @) 2 (") 3

A purse contains 10 notes of I 2000, 15 notes of ¥ 500 and 25 notes of I 200. One note is
drawn at random. What is the probability that the note is either a ¥ 500 note or ¥ 200 note ?

1 3 2 4
@ 3 ®) 70 © 3 d 3
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U@&S - 11/ PART - II

@Ml : eTemeuCuienid 10 s s @ErsE el wellEsabd. aflarm erawr 28 -&@

SL_LTwong edlenl_wef&se|b. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15.

16.

17.

18.

19.

A={1, 2, 3} boOmId B={x|x eremmigy 10 -&3 L& HAdlw LET erewr} erefed, AXB -8
HITEOOTS.

Let A={1, 2, 3} and B={ x|x is a prime number less than 10}. Find A xB

f(x)=2x+1 wHmIDd g(x)=x>—2 ereflled fog LOMID gof -G HTEHTS.

Find fog and gof when f(x)=2x+1 and g (x)=x>—2.

e puflib 532 4Bsr iqser o drerar. Sjeum auflenssd@ 21 LBOSTL 1g&HeT 65D
<(D&5 dlmblbenti. ersgsamen auflengger (p(pand CUMID eTaTed OHMID 6TSHSemen
LBAST 19861 BSLO(HS@GD cTaeyd SHreaTs.

A man has 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left over.

Fnl (h& : r oy

21 20 . .. . . .
A= (1 3], B = [1 3) crefled AB opmid BA srewrs. Coed AB=BA eremug ilwm

GTEUT <M.

21 20
If A= [1 :J, B = (1 3] find AB and BA. Verify if AB=BA.

[ Hpliys / Turn over
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20. Qer@ssiuulL uLsdHe LA-wlenr Qewbaeilly AD <@Wb. BD=4 Qg.15.,
DC=3 Qg.15. whmib AB=6 Q&.15. erefléd AC -m& srehrs.
A

&

G§.
©

B Qe85 D 3Qs.8. ©

In the given diagram, AD is the bisector of ZA. If BD=4 cm, DC=3 cm and AB=6 cm,
find AC.
A

B4 cm D 3am C

21. (=2, a) womibd (9, 3) eremm LeTaflger aufllFLFoegn CriGaTiger Fmiea — % erafléd
a -udlem LI SmenTs.

1
The line through the points (—2, a) and (9, 3) has slope — 5 Find the value of ‘a’.

22, x—2y+3=0, 6x+3y+8=0 PFHw CrrCarhaedr gamsbsran C&mEGsSsraramal

Tas ST_(hs.
Show that the straight lines x —2y +3=0 and 6x+3y+8=0 are perpendicular.

23. 5043 8. e wrepdrer @@ urempule 2 Al BHg 30° Qnéss Caramsd e
senrulgerer w&l(pHg @erm UTTESLUUMGSDG erafle, wHPBIHHGL LTMDEELWD
@enL_Cuiuerer CFTEnEIm6Ls: STEHTs.

From the top of a rock 50+/3 m high, the angle of depression of a car on the ground is

observed to be 30°. Find the distance of the car from the rock.
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24. @\ Cameriisatiler <, rmisatler eN&lsLD 4 : 7 eTeartle Sjeupbdlern Ser jereysarter allflsLd
ST,

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

25. @ Fmblen QL sE@TLF smywrbd 5 GF.5 @b, AFem @\ < rhisar 4 GF.0
Hmb 1 C&.B erafléd, Qe saamsder cuameTUrLIenLIE STeims.

The slant height of a frustum of a cone is 5 cm and the radii of its ends are 4 cm and 1 cm.
Find its curved surface area.

26. Qar&slLl L Leuader 6158&Hs Srems.

QW)
16 -18 | 18-20 | 20-22 | 22-24 | 24-26 | 26 - 28

(eumLrseflev)

LomevsTeU NS 6rfl 60T

6T600T6U011 & 60 5

Find the range of the following distribution :

Age (in years) 16-18 | 18-20 | 20-22 | 22-24 | 24-26 | 26 - 28

Number of Students 0 4 6 8 2 2

27. @@ sFmanLulgierer 80 wEhgar, 70 Sleuliy womibd 50 Gleudrenerls L&sert el (mhgl
FalmilL wpennudle e U Caibblshis@n Curg ig) epder HImL LLeirs @)mes
BEDSH6 ST,

A flower is selected at random from a basket containing 80 yellow, 70 red and 50 white
flowers. Find the probability of selecting a yellow coloured flower.

28. /2, V8, V18, /32, V50, ...... ey Qarreufllens @@ sl (FCsTLTeuflenswm
@oameowr cratuamg GCardléss. Qg @ FmlhHsbsrimeuflens eralld iger GlLTg
NSSHLTsDd SmenTs.

Check whether the sequence V2, V8, 18, /32, /50, ... is an A.P or not ? If it is an A.P,

then find the common difference.

[ Hpliys / Turn over
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L@&d - 1/ PART - III

@Ml : sTemeuCwenid 10 alarré & @@ e wallGsalb. elearm erawr 42 -5
SL_L_mwong edlen_wef&Esa . 10x5=50

Note : Answer any ten questions. Question No. 42 is compulsory.

29. Acrerugl 8 -8 @lL& @Gemeurean @Quic eraursafier sewrd, B eremLig 8 -o odlL&
@apeurer L&T eramseflen seanrd wHmID C erarugl @rlenl U1 Lienl UST eTaisellem
gerd erafléd (A N B)xC=(AxC) N (BxC) erantieng &iflLim.

Let A = The set of all natural numbers less than 8, B = The set of all prime numbers
less than 8, C = The set of even prime numbers. Verify that (A N B) xC=(AXC) n (BxC).

30. f:A > Berarp ariurerg f(x) = g—ll o aerumEsLIUBHDE. @IS,
A={2,4,6,10,12}, B={0, 1, 2, 4, 5, 9} &,5 Qm&s&LCUTg &rmy f -8 Were(mLbd
weannsatler Gmlés.

@) ouflenss Camgsaflen semrid (i) =i L euenent

(i) SLYSGD UL (iv) euenrLLLDd

Let f: A — B be a function defined by f(x) = g—lf where A={2, 4, 6, 10, 12},
B=1{0, 1, 2, 4, 5, 9}. Represent f by
(i) set of ordered pairs (i) a table
(i) an arrow diagram (iv) a graph

31. Plxl X szz X P3x3 N P4x4=113400 @%@E Py Py Py P, TETLET gm aiflensuded
SADOBHS LIST GTETSHET ODMILD Xy, Xy, X3, Xy GTATLIET (P(PESET GTENE Py, Py Py Py

LOHDID X1 X, X3 1y ApSweiphlen HULS®ETE STans.

If plx1 % pzx2 % pgx3 X P 4x4=113400 where Py Py Py P, are primes in ascending order

and x;, x,, X3, X4 are integers, find the value of Py Py Py Py and xq, Xy, X3, X4.

32. (DD STES. 672 +72+8%+ - +212

Find the sum of the series 62+ 72+ 82 + -+ + 212,



33.

34.

35.

36.

37.

38.

2 -1

121 . . | | | .
A:[Z -1 1) LPMIL B=|-1 4 6Tl 6y (AB)T=BTAT eTreuILIen&H& sflumTss.
0o 2
1 2 1 2 -1
If A= b 1 1 and B=|-1 4 |, show that (AB)TzBTAT
0o 2

Camanr Qs iy Cappses wpdl Hnes.

State and prove Angle Bisector Theorem.

(=4, =2), (=3, k), (3, —2) woOmID (2, 3) YFw earseer cuflenswirss ClsmewTL
BrH&rSEler LriL 28 & e@ser erame, k -uller wélienis sreams.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are taken in the
order (—4, —2), (=3, k), 3, —2) and (2, 3).

(=3, 8) eremmm Ljemartl eulF QFeeugid, W Fssatian Wang el hg Fiem(hsafler
Fa(hged 7 2 an_wigloren CrTGsTLiq6n FOGTUTL ML & &HTETs.

A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through
(=3, 8). Find its equation.

. 3 3 . 3 3
3@193553 sinA + cos A + sin®A — cos”A
sinA + cosA sinA — cosA

=2

.3 3 . 3 3
Prove that ; SI_4A + cos”A 4 S A — cos"A _ )
sinA + cosA sinA — cosA

Brgen eremm GUmMludiied wrenteul if 2 (Hanerudlen @)(HLDPLD FnlbLSET 2 6TeTeum)
wrHf gearerm 2 (HeursSleni. wrdfiuder Bord 12 GF.5. LHMD S LD 3 Gg..5.
U GD. @eulleur FbiGer o wripd 2 GF.15. @HEGLTNTE® BTH6m 2 (Feumdhdw
rSlfludler e ojeTeneud SreTs.

Nathan, an engineering student was asked to make a model shaped like a cylinder with two

cones attached at its two ends. The diameter of the model is 3 cm and its length is 12 cm. If
each cone has a height of 2 cm, find the volume of the model that Nathan made.

8512
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39. 16 Q&.5. <y repdrer g 2 Carsll UBg, 2 ®MEsLULL(H 2 QF.15. < reerer S
UBSISETTESLILIL LT, THSMEn LIBEISET Sl &@Hn ?

A metallic sphere of radius 16 cm is melted and recast into small spheres each of radius 2 cm.
How many small spheres can be obtained ?

40. sgwr wOML AGwr @meu@md 5 urLmsaleo QuUHD Cwrgs WHLC LETSET
wpepGuw 460 wOHMD 480 Y GL. CoYID Asear L elewssmser wpamGu
4.6 LHMID 2.4 erafle, wr@menLw QFweadner, WGEHS Hlanws serenn Clsramr g ?

The total marks scored by two students, Sathya and Vidhya in 5 subjects are 460 and 480
with standard deviation 4.6 and 2.4 respectively. Who is more consistent in performance ?

41. o evuudlé 5 Heuli HpL LKGIGEHD, 6 Cleudtener HlML LIBEISEHWD, 7 LFens HlimL
UbgI&@HLD, 8 &MUIL BlmL LbgIs@HD 2 6Terer. Fweumiiii dpepmuiled enLiudledlmbgi
R Ubgl THSSLLOHADG. SiHsL LbS,
(i) Oeudrener
i) &SHUY Aevegl Feul
(i) CleueTenemirs @eemoeD
(iv) GleueTanamuraeyld, SHLILITSGLD G)EaMLD6)
@@mUUSHSTET HlEDSH6HENETH &TEHTs.

A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn at
random from the bag. Find the probability that the ball drawn is

(i) white

(i) black or red
(iii) not white
(

iv) neither white nor black

42. (x—1)2+(x—2)2+(x—3)> = 0 eTEND FLOGMUMLIGE CLPEBIGETGT SEMENLOEWI [T,
Determine the nature of the roots of the equation :

(x—1)2+(x—-2)2+(x-3)2 =0
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U@&3 - IV / PART - IV
@gﬂuq : Slmarsg elamTESHEREGL allenief&sa L. 2x8=16
Note : Answer all the questions.
43. (=) Sgliugsd BC=8 Q&.5, ZA=60° bHmb LA -uler @WmeFLGeuL gwTerg

44.

BC -@ D erap yaraflules BD=6 Q&.l5 erempeurm shHasSmg erafle,
Wp&CHETenTdD ABC auenys.
S|6V60F)
()4 Q&5 yreperer el L b cuerhg Sigen eobwdHHalHHg 11 Gg.15
Qsrenevallayerer e LieTaflenwis GMlsg, liyearaluladlmbg el LsSnE
@ra(h CsrHCsT(HS6ET UMy

(@) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

OR

(b) Take a point which is 11 cm away from the centre of a circle of radius 4 cm and draw
the two tangents to the circle from that point.

(1) ¥2=9x+20=0 eTamm @QHLIgF FOTUTL Iq6T UTLILLD cUTHS ASET eLPELD
Eraysafler Semennends Fmmis.
S|6060F)
(<=4) e CumBE 50 £.15/wanfl ereny Frmen Coussdled LwentlEH g QSCSTL TGS Ten
SMb-Crrb eueyuLLd alamhgl, Lemel(helaTelHenmd &TeuTs.
(i) e9flzsn wrhlanus srems.
(i) 90 HlAl_misetler Lweanfl&@n gIrb ereueleTa] ?
(i) 300 H..5 grsens Lwellss ereualeTe] GCHID Y@L ?
(a) Graph the quadratic equation x>—9x+20=0 and state the nature of solution.

OR

(b) A busis travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and
hence find.

(i)  the constant of variation.
(i) how far will it travel in 90 minutes ?

(iii) the time required to cover a distance of 300 km.

-00o0-
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&Te) jeme : 3.00 wewfl CHrbD ] [ Qrgg wHubuamser : 75
Time Allowed : 3.00 Hours ] [ Maximum Marks : 75

SPleyemrset : (1) Smasg NHaTssEhd FHlwrs o&a Ldeurd 2 6TaTsT 6Temgeamer
sflurisgs Oararerab. F&LUdaledr Gopul@mulger <emms
sansrenilliurerflib o L amnguwirs Csfelssean.

2) Beod g H@mHLUY @wulamen er(pglausHEGD iigsCsTigHeugn@LD

Lwem(h$s Ceuamr(hHib. LLBIGET euareugm@ Oluemdled Lwear(hgse .
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@l : Qeualeamsgrer mrenE LGdHsmers Casmaimg.

Note : This question paper contains four parts.

U@&3| - 1/ PART -1

@Y : () IS g elamsasEpsEL allenL waldse] L. 12x1=12
(i) GarGssuul(Herer mrem@ WwWrHM elenLsafle) W& 6rmHLjenL Wl
e wmears Cosmrosbhss GHNUELHL el wmaryn Csrsg
CT(LPSELD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

[ Sl / Turn over
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1. m HCordlymb elleng ererLig D@ FLOOMGLD.
(1) 9.8 evL_atr (<) 9.8x10* N
(@) 98x10% ewLeir (FF) 980 enL_er

One kilogram force equals to :
(a) 9.8 dyne (b) 9.8x10*N

(c) 98x10* dyne (d) 980 dyne

2. &l goueweyd Smer Gapurleal & &fl el 2 sajeug) :
(=) @eQaens (=) GYCeens
(8) Gl (7) Q@ @eflw Cavers
The eye defect ‘Presbyopia’ can be corrected by :
(a) convex lens (b) concave lens

(c) convex mirror (d) Dbifocal lens

3. 10 @b Werer L gens e Wenanmleerer @rew(®h LeTafls@nsdlan G bsiss
Qeuwiu®n Galene 100 J erafler @liyeraflsEpsdlen_Cu o drer Wenar(pss

Ceoumiuir(h eremen ?
(1) 0.1 Gaumevl_ (<) 10 Geumed-
(@) 100 Geumevl_ (FF) 1000 GeumevL

The work done in moving a charge of 10 C across two points in a circuit is 100 ]. What is the

potential difference between the points ?
(@ 01V by 10V

() 100V (d) 1000 V
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Cewpens sSMusssenensd s Hbser :

(<=1) QusLsmre (<=y,) el Sl
() e gyer (/) Bevev Guim
Artificial radioactivity was discovered by :

(a) Becquerel (b) Irene Curie

(c) Roentgen (d) Neils Bohr

@Qresswenal 2 (Hhaurssadler CoameuliLBb e Hlwwrear 2 Carsbd

(1) Ag (<) Hg (&) Mg (FF) Al

is an important metal to form amalgam.

(@ Ag (b) Hg (© Mg (d) Al

GO L Qeitiuflenoouied, N(Wpss5ms SHaf&EnGUTg Brngded eumujelen
ST m e

(1) wmholdema (=) <dlailsdpg

(&) ©Gopdng () eflenar Glebeney

When the pressure is increased at constant temperature, the solubility of gases in liquid

(a) no change (b)  increases

(c) decreases (d)  no reaction

@ senrgeiler pH UL 3 erafled, oiger [OH ] Gamley eremer ?
(1) 1x1073 M (<4)3 M (@) 1x10~ 1M (rF) 11M
The pH of a solution is 3. Its [OH ™] concentration is :

() 1x1073M (b)y 3M () 1x10~11M (d 11 M

[ Hpliys / Turn over
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8.

10.

C,H:OH + 30, — 2CO, + 3H,0 eremnuig :
(1) T (HESLD

(<) THSETE 6THH6

(@) ergsemmuils ojblen < &SlnGammmLd
() er55Ganed %&8Gammid

C,H;OH + 30, — 2CO, + 3H,0 is :

(a) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

srevCGuilwer Ll enLger Courfleo LGSuller sramrliLi(hEmg.
(=1) Ypewi (=) 95

(@) Quflengsdler (FF) =A85Cgmed

Casparian strips are present in the of the root.

(a) cortex (b) pith

(c) pericycle (d) endodermis

auems GOrrCurGamer Qear Grmolwum ewwsHe srertiiLihEHng.

(<=1) e Carblaer (<=4) QL rClgear s

(@) su-CwlLrbsear s (FF) <=1&5Crrelger_fé

The centromere is found at the centre of the chromosome.
(a) Telocentric (b) Metacentric

(c) Sub-metacentric (d) Acrocentric
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11. 2.8 eriilev Slarb :
(1) gabur 1 (<) Gw 31
(@) ertuged 22 (FF) &CLmum 2
World AIDS Day :
(@) December 1 (b) May 31

(c) April 22 (d) October 2

12. Smsap (b srllamreiisamer o (Heurss LiwemhbD Qetlummer ergl ?
(=) Paint (<y,) PDF
(@) MS Word (FF) Scratch
Which software is used to create animation ?
(a) Paint (b) PDF

() MS Word (d) Scratch

U@&S - 11/ PART - II

GO : eTemeuCGuenid e elearmé s @Ehd@ e wellEsea|b. efarm eremm 22 -&s
SL_LTwong adlenl_Wef&Hae|b. 7x2=14

Note : Answer any seven questions. Question No. 22 is compulsory.

13. @ &Gl - euenywim.

Define one Calorie.

14. GBLL6ene GTemmTEd eTee ?

What is a longitudinal wave ?

[ Hpliys / Turn over
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15. @by SHLULSSNEETET Q[ STTERTERIGMETS H(H.

State two conditions necessary for rusting of iron.

16. QUTHSHIS.
1.  &fevand Qewer Qgm@d -OH (i) Quer&en
2. uedler cueerwd GEFTLOmIGET i) GCurirrdwbd evigquGrl
3. Blenmeymm Cariomiger (iil) <YOFADTE
4.  Gemly (iv) Qe
5. &mGur auemerwd Gammkiger (v) mHSen

Match the following :

1.  Functional group -OH (i) Benzene

2. Heterocyclic compounds (i) Potassium Stearate
3.  Unsaturated compounds (iii) Alcohol

4.  Soap (iv) Furan

5.  Carbocyclic compounds (v)  Ethene

17. @sw eureesaflen psHluiggieud eremer ?

What is the importance of valves in the heart ?

18. “CuUmeIgm’” Temmmed eTaa ? s eTlillly CFwMHensHITs: 26sEellssmd ?

What is Bolting ? How can it be induced artificially ?



19.

20.

21.

22.

7 8519

Qarhssuul(Herer LLGHe A, B, C, D 8l LITSRISEMET {enLUITETD STEmreyLD.

ol upeeuulen Slengalenl B QMEMESHET, ¢ ClLMUILILL L. 66 g

Qupliu’ L Ly eTen epssliu(hEng ?

The degenerated wing of a Kiwi is an acquired character. Why is it called an acquired

character ?

rmigeT Geul L IL(Heusmed 2 el TG edlenaTels6T wranel ?

What will happen if trees are cut down ?

B&Caaied 2 drar gaflhisaien ssais @QemwenL SraTs.

Find the mass percentage composition of methane (CH,).

[ Hpliys / Turn over
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L@ - 111/ PART - III

@Iy : gemeuCuenid e alarTss @hs@ el wellGsea|b. ellarm erem 32 -&@

SL_Lmwwns ele_wel&Esa|b. 7x4=28

Note : Answer any seven questions. Question No. 32 is compulsory.

23.  BebellweL| aumy FOETUTL g enar S(Hedl.

Derive the ideal gas equation.

24. Sl diurienel wHmb grrlumienet Gepurhsamer CeumL(hSsis.

Differentiate the eye defects : Myopia and Hypermetropia.

25.  peum, LT Hyb srors sdisafler LT smer UL S.

Compare the properties of alpha, beta and gamma radiations.

26. eusT_Grr ellglullen LiweTLT(H&Samer 6T(Lpg)s.

Write the applications of Avogadro’s Law.

27. (1) 2 Corssd sOen6l cTETMTE 6TET6 ?
(i) 2 Corss soenel 2 (HEUMEEGEUSNETE STTEUBISEETS Fnmis.
(i) What is an alloy ?

(ii) State the reasons for alloying.

28. Garlder griewwnrsse (pepew clers@s.

Explain the mechanism of cleansing action of soap.



29.

30.

31.

32.

9 8519
SLeLuded pepLGumid @LrCuwirgdl Hlapsslufen Ligblanesamer 6r(ps)s.

How does locomotion take place in leech ?

Bluyrrafier eewlemu UL gL er afleuflsseb.

With a neat labelled diagram, explain the structure of a neuron.

(i) wewewrtlibenme 2 @TLT&&dmlqll 65eneTe &6 WTeneu ?
(i) werenrfllienu Bedl ereueurm sHLULET ?
(i)  What are the consequences of soil erosion ?

(i) How will you prevent soil erosion ?

90 Hz dlirleuaimenent 2 el ¢edl epeorearg eealuller SHasCoussdlen (1/10)
bLEE Ceaussdle gula) Hlameuila o drer Cal@namr L dmg. Casl@nrme
o aurlILI(HLd S TGleuenT ereterr ?

A source producing a sound of frequency 90 Hz is approaching a stationary listener with a

speed equal to (1/10) of the speed of sound. What will be the frequency heard by the
listener ?

u@&3 - IV / PART - IV

GSNILIY : Semenisgl cllamssepsEh el weaflssa|b. Comeunwnar @Lkisafler LLLD

QUGN TILIGLD. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33.

(=) () ops wrors Carur’eLs sah sgemer lgss.

(i)  Swuusdner ss51euD eueTLD.
S|6060F)

[ Hpliys / Turn over
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34.

10
WlemCaTmL_LLD 6TGIMTE) 6TETe ?
WenGerml_LsHleT AensHs Fmml, ST UM TULIMISHH|LD.
WenGeanm_LSeng 6Thg SHmaNuden epeld femeill (PlgUjld ? DSEMET 6(
Wenammled ereueurm @eneanréssliul. Couemr(hnd ?
State and prove the law of conservation of linear momentum.
State the principle of moments.

OR

What is meant by electric current ?

Name and define its unit.

Which instrument is used to measure the electric current ? How should it be

connected in a circuit ?

mrbd 2 HepaHd CamomsEps@&D, FrD 2 Mlehd samrujb CFmomkisEnd@LD

@enL_Cuuwrer CeumurHger wrenel ?
@aflr WyCgamisatie ‘IS_I%F'I'@_II'I'H'Q o Wflemiser Sah eurpdleammer. erem ?
S S6T6| FHGIHD QUMTWMIEEHELD.
S|V
WBerellenar wpmid Werrellenar CoumLiHSEIs.
‘A’ eremmm Slawring Cambsens GeuliuliL@sgIb (umipg Sengnbg ‘B’ HMILD

7

‘C ererm eumyeneud HmEMG. ‘C ererm eumened Bifler CFaydgbCumg

4

Sflg gemenowinsg IMEDE erald, A, B wpmibd ‘C -erwsé ser_hs.
In what way hygroscopic substances differ from deliquescent substances ?
The acquatic animals live more in cold region. Why ?

Define volume percentage.

OR



35.

(b)

@)

(i)

11 8519

Differentiate reversible and irreversible reactions.

A solid compound ‘A’ on heating decomposes into gas ‘B’ and ‘C’. On passing
the gas ‘C’ through water, it becomes acidic. Identify A, B and C.

(=) Coumium(® Sms.

@)
(i)

@ allensulenes sreur Geum OHMID @ ellensulenas sreur Cour.
STHDIGTET FEUTFLD LOHMILD STHMIEET FELTFLD.
ENTVIOVE:
&CrmGrCarienr enwlienL efleuflEsHe .
Caumu(H5g1s

2 |6 Qg ger HdlFang wHMID @eansblgad e Hfsans.

Differentiate the following :

@)
(i)

Monocot root and Dicot root
Aerobic and Anaerobic respiration

OR

Explain the structure of a chromosome.

Distinguish between somatic gene therapy and germ line gene therapy.

-00o0-
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Ldle| eretr
Register Number

Part - I11
FOLPS 3Mlellwev / SOCIAL SCIENCE

(sl wHmID <y mSle euydl / Tamil & English Version)

ST ey : 3.00 wewtl Gy | [ Qorss wHlibuemser : 100
Time Allowed : 3.00 Hours ] [ Maximum Marks : 100
ANleyemrsen : 1) <mandg alemmss@hd sMlurs oiF&0 Lfeirdl o 6Tensm erearLISemeT

sflurTsgs Carerera|b. FsLLdaled Gopur®h @ @lGer
MG SesrauturerilLib o L anqurss Csfellsseam.
(2) Beod deg sBUY owulomar LIHCWL aWgeusDHELD
Sl &ECHMg(HeugHGD LwaTL(hss Colam(ib. LILBISET UanFeUSN S,
Quendléd LweaTL(HSS CeuamHib.
Instructions : (I) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Ml : Qeualermsgrer mrenE LGHaamend Caramg.

Note : This question paper contains four Parts.

L& - 1/ PART -1
@Oy : () s g elammssEpsEh allenL walése] . 14x1=14
(i) Garhssiul’lL mremE wrHn ol galled Wasea|b gHLenL W
e wlenear CasrpOshsss GMULGLer el ulmaryb Csrgg
CT(LPSELD.
Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.

[ SpLiys / Turn over
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LSCFTETUSTD BHIHOTET(H (LplgeieamLWbsmeurude $wpsdE wfwureiler 2 guinrer
cusllenld aumiibs Br(h et ?

(1) Eeorrr (<) graimenr (@) Qamfwm (FF) wrGasredlwim
Which country emerged as the strongest in East Asia towards the close of nineteenth century ?

(a) China (b) Japan (c) Korea (d) Mongolia

@ssmell wmmLen Geol e o L anliigSensanld ClFuig Clsmear g ?

(=) Gegoefl (<) TagWT (@) Gurl (FF)  evGlLudl e
With whom of the following was the Lateran Treaty signed by Italy ?

(@) Germany (b) Russia (c) Pope (d) Spain

QUL &@ wHmb (sHE@& aNuLBID 6Ths Yarh erm Carsslul L g ?

(1) 1975 (<) 1976 (@) 1973 (/) 1974

When was North and South Vietnam united ?

@) 1975 (b) 1976 () 1973 (d) 1974

FgOm Cardlur LGe ygreunCommesmen 6dl(HdlsameTuid, 6ll5emelsehasTeT
STULISBISMGT(D MBS,

SMT6EwTLD Cordur 4G Guimss Hmwansamns eTdHissri. alsamel

LOMILDETSENS ST SSTIT.
<) Famm| &Fil. YD STTETID FnMMISEGHL CUTHSSOIXISTS Q0.

@) @rearhGn Seum.

(
(<) Sapm) &fl. SITEWID FnOMISEGHL CLTHSSOTEISTS 2 6TeTF).
(
() &myesTd &fl, AT gnpm CUTHSSLOHMSTS 2 6Terg).

Assertion : Jyotiba Phule opened orphanages and homes for widows.
Reason : Jyotiba Phule opposed child marriage and supported widow remarriage.
(a) Assertion is correct but Reason is not apt to the Assertion.

(b) Assertion is correct and the Reason is apt to the Assertion.
(c) Both are wrong.
(

d) Reason is correct but Assertion is irrelevant.
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CemrlLr préyi @ssamss FlLId eThs Geneareaniuied BleappCoummiiul L g ?
(<=1) Camed derigs (<) Qewrig Cam Horrgs
(@) wewrLm Hermas (FF) SSSTENT HEOEUTBIGET

What was the context in which the Chotanagpur Tenancy Act was passed ?

(a) Kol Revolt (b) Indigo Revolt
() Munda Rebellion (d) Deccan Riots
@ndHwureller sreblene <5 Guufltul (Hererg.

(1) ST I SHreblena

(<) BleopH&Casr_(Hé sroblana

(@) WL LHeussTHmis Sreblenea
(rF) W8 SWETDE@TL_0d SHTevblened

Climate of India is labelled as

(@) Tropical Humid

(b) Equatorial Climate

(c) Tropical Monsoon Climate

(

d) Temperate Climate

GTGTLIZ) (I eumamtlLILs LIudl.
(=) umSI (=) Cargleno (@) <=fé (FF) &arg CFmermd
is a cash crop.

(a) Cotton (b) Wheat () Rice (d) Maize

@ndwrefer pse amibler Hlepeowd Bmeuriul L wrblew :

(=) egrms (<) @rmegevgmen
(@) waymegiqyd (m) sWlppre
The first Nuclear Power Station was commissioned in :

(a) Gujarat (b) Rajasthan

() Maharashtra (d) Tamil Nadu

[ HpLliys / Turn over
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9. & Ggmensuden LiLGeum jbaFmIsSET LD iMledled LyTeomeT Lig L

() aueruLedwe (<=y},) wEsaflwd®

(@) wreayLefwe (FF) sbleuliguicd
The Scientific study of different aspects of population is called :
(a) Cartography (b) Demography

(c)  Anthropology (d) Epigraphy

10. sWOPETL(H Wweseailer @reawTL_roug PpadHlw o e i

(1) L@LY euenSSeT (=) Hmigretwmbiger
(@) eramrClent allggisser (FF) Q@ped

Second staple food of the people of Tamil Nadu is :

(a) Pulses (b) Millets

(c) Oilseeds (d) Rice

11. Spssramibd wrblomigate erhg e Frenel L amdamsll QubdlmeEseiaame ?

(<=1) ppglry WrGgsw (<) Clggurasmen

(@) sBlppr® () 2g8ra ArGse
Which of the following States does not possess a bicameral Legislature ?
(a) Andhra Pradesh (b) Telangana

() Tamil Nadu (d) Uttar Pradesh

12. ¢Gug (OPEC) eremmuig :
(=) sreuCse TS H Hlmeuerd
(=) @ sTeuCss allenemim_(Hé SLPSLD
(@) eramblentu eromindl Hlmeiambisailer el
() e sreuGses Hlmeuerd
OPEC is :
(a) An International Insurance Company
(b) An International Sports Club
(¢)  An Organization of Petroleum Exporting Countries
(

d) An International Company
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13. wperpuiler gelleurm @eanLBlene LTl gdlem wHliemu gl (HbCurg,
Qmd uargHen wHlienL EarddlLemb.
(1) ey panp (<) Loy &6 o
(8) eumwrear (e (/) Bri(h eumLorerDd

In approach, the value added by each intermediate good is summed to estimate
the value of the final good.

(a) Expenditure approach (b) Value added approach

(¢) Income approach (d) National Income

14. @bHwur eriCurg Luise S L gdHéd ansuipsslLg ?
(1) 1984 (<) 1976 (@) 1950 (rF) 1994
India signed the Dunkel Proposal in :

(a) 1984 (b) 1976 (©) 1950 (d) 1994

UGS - I / PART - II

@Il : etemeuCuend LSGE alaTTésErs@ e weallEseyb. el eram 28 -&@

SL_Lmwwns edlen_wWef&se|b. 10x2=20

Note: Answer any Ten questions. Question No. 28 is compulsory.

15. far-griureflwl Gurfler wafwusgeusams B ereueurny wHUSEH Qeweumi ?

How do you assess the importance of Sino-Japanese war ?

16. Qumerrsryl QumLESD @bHu Couarramenwule g TSFMSWLS STEHSMS
THLOSE LS ?

How did Great Depression impact on the Indian agriculture ?

17. UTEnETWSSTITSENET SL_enD&ET Wrenel ?

What were the duties of the Palayakkarars ?

[ HpLliys / Turn over
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18. aurfle @uliys Csrarensuller oqliuemLuled 19N iqey Arsled @)enens s
QamarerliLi’ L LiGdleemer L iquiedlL_a|b.

Name the territories annexed by the British, under the Doctrine of Lapse.

19. @nHureler ellhgenals CumprLsHle ojenemblugear iqem Lbigeflliy wrg ?

What is the contribution of Annie Besant towards India’s Freedom Struggle ?

20. ssaren LYW — An @GOILY cuenys.

Write a short note on Deccan Plateau.

21. @QBdHlwreldler Brem@ L(Heus sromisamens GOILLHS.

Name the four distinct Seasons of India.

22. @ndlureilen CeleTreamrennd (PenDSE6Td: GHILILA(HS.
State the types of agriculture practices in India.

23. gllppriger wsHw Seysamens @GOLGHs.

Mention the major islands of Tamil Nadu.

24, pOPBILIgen W S LOGCHETESG L misafler CLwrsamer 6T(Lpgis.

Name the important multipurpose projects of Tamil Nadu.

25. 2w gHwamsder sasCs o M fHeiamruenn odsrrhsdr wreneu ?
What is the original Jurisdiction of the High Court ?

26. oaflGarm Quisssdler Hlmeuans Saeeliser wrer ?
Name the architects of the Non-Aligned Movement.

27. FAO -a&fler Lilg 2 ewre| LIMGISTLL cUanTIm).
Define food security according to FAO.

28. ool ol @pHwur HlLb Ghsg BelT Sidleug wirg ?
What do you know about ‘Startup India Scheme” ?
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U@ - 11 / PART - III

@Il : etemeuCuend LSG NaTssERsE el wealEseayb. e eram 42 -&@

Note:

29.

30.

31.

sLLmwwng allenLwefldsad. 10x5=50

Answer any Ten questions. Question No. 42 is compulsory.

Camgl L @)L migemer HlrliLs.

@)
(i)

&L Qumbloe eremy QLSS FnedHleolL i L mi.
sl seflenr rflwud @ <2}, @I

SOIPHTL g6 rble ellemi@ <, @LD.

(iv) @pIU G4LEHEREE SgliLumL SLewser Gfledler &
QULPMEIGLILIL (HETeT6T.

v) @rewLmbd genperw Ceumelgors SIND GTE DELPESHETLD.

Fill in the blanks.

Kattabomman was hanged to death at
Gandhi regarded as his political guru.
is the Tamil Nadu State animal.
Fundamental duties have been given to the citizen of India under Article

Secondary sector is otherwise called as

Ogrwaflyer Ggrifyemiw Ceurbslden o L eruigdasuiler &rdg)semer

Camgl (H& sT(Hs.

Highlight the provisions of the Treaty of Versailles relating to Germany.

@reLrd 2 sl Cumfler afleneTeysamer < iey ClFlis.

Analyze the effects of the World War II.

[ HpLliys / Turn over
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32.

33.

34.

35.

36.

37.

38.

(=) Caunu®S5a15.
() L SlpsE umeussTHm wHmb CFaCLnE LmHeUSSTHN)
i) yg9ss Queid LHMID UG IULNES @I eUeTBIS6T
(<) SMTEVID T )5
wepell LGdser Fnbleueatisaner il @atlrremana.
(a) Distinguish between :
(i) North east monsoon and South west monsoon
(i) Renewable and non-renewable resources
(b) Give reason :

Mountains are cooler than the plains.

Quearrgefler Cobur’iyne 19 b Broorar® Erdmsseurdsdr < nPlu Lienilser
CIEIRICETS

Write an essay on the role played by the 19th century reformers towards the cause of women.

Sushu <y miseert DM efleudseyLb.

Give an account on the peninsular rivers of India.

@bdlw e eumssar gCHaD ghdeners GHULAL(H, ASET LIMTLSET WHmID
uredéd umml edeurl.

State any five types of soil in India and explain the characteristics and distribution of soil.

sWIPHTLigen LGeum CUTE@Geursgl pamaeaer cilelfl.

Explain the different modes of transport available in Tamil Nadu.

@Sl 9rso enwgsfler LientlEeT wHMID SLEHLOEET WTenel ?

What are the duties and functions of Prime Minister of India ?

@Sl srflweewliber ApliLs mmsamer cilerd@s.

Explain the salient features of the Constitution of India.
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39. Brl() eupwragas samsd(heusn@ csrrymLw LoGaum smsgissamer el

Explain various terms associated with measuring of National Income.

40. ouffl eraTDL eTaTE ? G GUENSHM6T el &&He]LD.

What is tax ? Explain its various types.

GOy : wrpms Spesnefl wrewreuTssm sTeVsCaTH WLOHMID euEDHTUL FH 60
Hapesamearyn ZQLrmsamerwyd GOUYLEH sri(eausnE udeons
Sieupenpll upiw Golliyser wlHICw g Ceusst(Hb.

Note : Differently abled candidates have to write only notes for the questions related to

Time-line chart and Map.

41. Eps sramuaTeDNDE STOECETH cUamTs.
1910 e 1940 euempuilleorar yearhsl @ oL ulL @bdu Casilw @Qussssen
&S Hlaspeyser gGaaib ghdlomar Sro&GaHTIg6 6T (LpgIs.
Draw a Time-line for the following :

Write any five important events of Indian National Movement between 1910 and 1940.

42. 2 @& aumrULGFl YemauHbd QL mISmeTs @GDI&ESeLD.
@) Qssral
i) w9 QuEmRsL 6

(iii) Arresren

(

(

iv) OQemqum

V)  guuimen

Mark the following places on the map of the World.
i) Italy

if)  Pacific Ocean

(
(
(iii) France
(i
(

iv) Serbia

v) Japan

[ HpLliys / Turn over
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u@&d - IV / PART - IV
@Ml : Yesteupd clarés@EndsE allenlwafldsab. 2x8=16

Note : Answer the following questions.

43. (=) st QuisssSden @ Sphs o grrarore Fl L LML QUESHD GDSI
aflfleurs <y rrie.

S|V
(<) BosslSAullen Carppsdnarear Garysms ollersdl Fups BHsaTear oigen
unisefllienud &ligsd ST L aL.

(a) Critically examine the Civil Disobedience Movement as the typical example of Gandhian
Movement.

OR

(b) Describe the background for the formation of the Justice Party and point out its
contribution to the cause of Social Justice.

@il : wrpnSSHnernefl wrewreuTasT euemrUL GGTL Ty W elevTT&HasEHSHE)
GSMILILseT (DD 6T(LPSHeLD.
Note : Differently abled candidates have to write only notes for the questions related to

map.

44. () Qarhssuul(Herer QbHw cueprLLFHe SpsTamibd @)L Bismars @&Désea]b.
i)y Cune Csr_ir&s wene
i) s&sTant Lo

iii) Uererm 2 ulTEGarer Gl L &b

(

(

(

(iv) &mIENS M)
(v) sflge wer LG

(vi) CuwlEr iemewt

(vil) wemerm_(h edliomen Hleneowid (FrCHenid epem))
(viii) CQuLGrredllwd HenL&@WlLLb

S|V
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(=) Qar@ssiiul(Hidrer SLONHETH euamruL S SpsTamib QL hismers GHEse,LD.
iy asmeilfl <ym
i) Beodl

i) Camgwssamy auamelleon @ FreaurmeawD

~"

iv) upGaumsr(® el

v) ellwrer Hlepawbd (FCsed eemmi)
vi) &L edleneTud LGS
vi) Blesstl oL sgLllb (gCasab )

(
(
(
(
(
(
(
(

viil) @B GLpHBISL 6

(a) Mark the following places on the given outline map of India.
i)  Western Ghats

ii) Deccan plateau

iii) Panna Biosphere Reserve

iv) River Ganga

(

(

(

(

(v)  Black Soil region
(vi) Mettur Dam
(vii) International Airport (Any one)
(

viii) Petroleum region
OR

(b) Mark the following places on the given outline map of Tamil Nadu.
i)  Cauvery River

ii)  Nilgiri

iii) Point Calimere Wildlife Sanctuary

iv) Pulicat Lake

v) Airport (any one)

vi) Sugarcane growing area

vii) Coal mining area (Any one)

viii) Indian Ocean

-00o0-
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Language — Part IV — TELUGU
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K8 1 (1) (3 BBF 0(Beaddn I8 &Ho° o Sedodhn. S0(Beas® DB 8
GRHPEH Jo b KO HTEHIS BDAHEABNK.
(2) TROTERE $508OTD @osEB A DR Jwo Bor Benh Tord VTP SIS DO

GDA3PA0B0R.
eefdn - 1/ PART - I
(15 S»dyen)/(15 Marks)
& (80O 8 JBI Jdrgrearen (ET°0Hod. 15x1=15

Choose the correct answer.

1. ‘@580 o HXII5 @gaﬁw (5P AS00.
(») nsdo (@) JSK0 (8) S&do

2. ‘o o HXIK TR
(®) (&, dos (@) &g, S0 (®) Xxgo, Swo

3. DY o HRX0IB Hogah DTPen (JTPC5om.

(®) JK80, o“oé,wasao (8) HD&, oS (8 (0, ePSNL0

4. ‘s2350" 0 DEXNID DB (3°050m.
(») Bo (es) éa)a)o () é{&o

5. ‘BoHS0" o HESI0H (HF)B Do :
(») (HBIre0 () HS8K%0 () Dé&po

[ Turn over



8551 2

6.

10.

11.

12.

13.

14.

15.

‘T8RP X HE5H0K0 DEED (A0,

() &% +a§>o)>é3 () &8 +ao“)°))éo

‘Tl K0§ WO ?

() 8508 (8) &830H

BAlD gPAD ©FTCeD ) ?

(®) 56 () 66

RVABBen’ D30 2B (TP

(@) &y JeRo () 25 e &m0

Bo8TBHA $B(S50 REseRr Bond AN ?

(®) JIHoo () B
o8 Heen ) ?

(®) 4 (®) 5
L0880’ dre

() ¥ =80 () ¥ =80

s MBS BokS ©FT°Q) Doerdd ?
(0) ¥ () (@

“Eﬁeé—éoé—éé” DI (HSg0sen.

(@) HoBd () (DESe
0%, &, 8, o ©OLPLD.
() Kogasdoen (9) oﬁaeaagde»

(=)

=)

=)

=)

=)

=)

=)

=)

(=)

=)

so+ao“)°}3é:

80306

aaaaéé 8BS

‘Y’ 380

Qoeo

S

02

aﬁacﬁoaen



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3 8551

geiiso - I/ PART - II
(18 Sedyen) / (18 Marks)

Nt - 1/ SECTION - 1
& (808 S AR Teid (BHoH 2357200, 4x2=8

Answer any four questions from the following.

BBIS KoRerSBl DNBoHo&.

@é@)cg AleILII 200eNBHER HVe0E Do éé}@%‘@c‘é ?
EoPEBE D58 Eécg DB Degen egfkRomed ?

38) arto IrDB Boen 0w ?

EAlevhs gbceg AQPED, AKX esotrdd ? Yoo DG BoHod.
S)o8g Beo Wé&ééﬁ)&)& ?

Qeriln - 2/ SECTION - 2
& (8o aS® DAY B (HHH eTra0dSy 5x2=10

Answer any five questions from the following.

‘PTSEC OIMPID ? STEEEL0),
BEO' ©IPID ? STIBeL0),
‘BESEPIT0” @STPID ? STPSTEEINXN).
‘DESHSH0 IR ? SOOI EWE
Dodoro KHBOA (FPAD.

0BITPE ©OOE0 OITPID ?

808K DXPK0 K308 (T°A50.

[ Turn over
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29.

30.

31.

32.

33.

34.

35.

36.

37.

griisdn - III / PART - III
(18 SSyen) / (18 Marks)

Qgriiso - 1 / SECTION - 1

DIV Bod (BHoH 235°20050).
Answer any two questions from the following.

BEroe @i 6iErd) DHBoBos.
8ERAIT0HeBH EIYY EOACDIL JHL ?
HBES aDessird oG Kg) T°aHod.

Qgriidn - 2 / SECTION - 2

D3R Bote DEHOH eaendn). 34§ (DY) SHE (TAHIBL.

Answer any two questions. Q.No. 34 is compulsory.

TR DEegerg0 80D (TPabod.

33263%563(‘3) 288 ©OoAEBOSTR 2ORIHE DS ATNER D ?

(®) SoABoznc KIE ...ooovveeenenn Difjoo Kepos.
s HiigEn Heoriiy B (F iy,
S
(©9) T° D0 DBED weveeeeeeeeaannn. DI $Do0oHS.

0% DR FEForo BE (@PamHED.

Qerilsdn - 3 / SECTION - 3
DIV B (HHOBH esranen (FOA0.

Answer any two questions.

“B0DEEre” HEy OFNOL 1°8) (F°AiNKD.
B JXPd0 K8 (E°A50sm.

DY HHErQ) ED e zﬁgomcﬁa ?

2x3=6

2x3=6

2x3=6
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39.

40.

41.

42.

5 8551

giisn - IV / PART - IV
(25 &rdyeo) / (25 Marks)

o)) (DD e3e0d). 5x5=25

Answer all the questions.

() @8655)?@26 Hgo @WS?SE,PK FTP0IX0 (TPas0sm.
Sae
(8) ©d=°0dE @%éa?ﬁ FPTPoIX0 (TS0,

(®) BoBBHA $B(Hsm 3‘0623&)‘% FTP0F0 (TS0,
5l
() =088 6263&20 2095 Sched @:6&&@3:6 SRV AN SoHo&.

BenrHSTI 9HB0HEw.

We have rich forests in our Country. These forests give us many useful
materials. They give us timber for building our houses, ships and boats. They
give us fruits and honey. They give shelter to many animals and birds. All these
are our wealth.

Bob KesgEn S0D (DB DITERIR0en (T30,

(©sego 1872 erisy 233 ($dsedo Bep EIHY (P500&° H5ErD B0k 22:)05°%. Sorpths®
(Do Sol& 010870 ﬁ'sé"e)ée)gdﬁn?g 88es0 e&%ﬁo Fdad. ([Hsedo ereg0 SapsH&tS
K&DoB. (H5°do s mrer HEM SoGTh. (888 mror SET eiard.

Do :

1. (Dspdo QP> esoeedd ?
(Do ABHE esotrdd ?
(Hsod0 Sol@ oW ?

(Dsedo erego AHE KEDE ?
Bsego O @ty SET B ?

a kW

(®) DB ESH $SerRy T (FoaHoK.
S
(@) D FBToS’® #OAS roo BIB)TR) HBoY b IS/ IPHTO8 Sy (oA

[ Turn over
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43.

44.

45.

6

goii&o - V / PART - V
(24 &rSyeo) / (24 Marks)

Bob (oD esarendiy.

Answer the following questions.

()

()

()

()

()

()

89 PEPN FPT0TR)) (FPA50EW.
G~

SETHS — Horrd SrgredDd SPBseRr FPT0F0 (FPASHE.

I38 PBGErE PToFENK (0D,
Soe
‘BONBE EErr JTPodKD (Feaoin.

PRE FPEBo-Safen 0 (P50,
S
P00 Aaedes S50 (PAiND.

-00o0-

3x8=24



No. of Printed Pages : 6 8552

Language — Part IV — MALAYALAM

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

&0laf : (1) @ooSloallon iAL® HOQINIEEMIMEIM GOlMEl €2106)Eala | alBlEUROUSlH6 .
ARO®EHIRIj0 MOOTILINES Hi¥alo OAMEBIT OSOHM a0 Ma OSSO
@O D6 jcb>.

(2)  QgPIOIME® Bh0Gald MIaIE®I WlOEees Mol HalcwoUll.ojowfldlesnemo.

aldodg - I
(15 @od«6) )

() agEld Gola|ETMIo OBMOODPIBd:. 15x1=15
Answer all questions.

(i) @MIgEeedd Al EIWIW HEMBO OBMOEIETMHSIEBNLI® .

Choose the correct answer from the options given below.
1. Slerugm aflogydlRfl@d milom egissl auoiam mélewa ?

(@)  wWow (b) @oym () @O8HMA3 (d) #oeA

2. adlagadlay senl auisnimae :
(a) O3 (b)  ©alMMOUSRDIH6

(c) Galm (d) 1d

3. H0OEMENIOEM QUMD @DALHE) ?

(a) @ (b) O (€) allBemd (d)  aladletd

4.  @OOOS allOHBIE BHIE.ojoSIoem) “HH0orRIHNER]” ag)(m &hall alo@Me ?

(@) allHO8LesS (b) O[OS (c) EPODWIOS (d) cmovrles

[ Turn over
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10.

11.

12.

13.

2
£OHMOLO @OAMNOHDNT) ?
(@) al®eHe (b)  cvawy (c) HeRo (d) a0
HQo @RAMOONTT ?
(@) lemd (b) @O¥o () HOWM (d) ane
Mo — Qflaldl®alBODPI®Ib.
(@) @OMPOWo (b) @060 (c) @pmladso (d) @peoUll

@loylomlo — alloy + @oalio  maullownsy ?
(@) eealcaull (b) @wmamcwl  (¢) @decrmmu]l (d) il

20®Oil®IBOWD — OO0, all®olo — AV@OMVORTT ?

(@) @laddaumomo (b)  aja3jvadavo () Bluymmomio  (d)  @@aliiaHad

0N QUM — HOLIODLI® k.
(a) @oadlssoelo (b) UBEDEROMB0RI0

() Bi®HorIo (d) eeaMmo

@oLOMo — AL GIIOTDcb.

(a) @oWwoo (b) @oBMOO (c) @omao (d) @oEmao

al3)eoo QAW o) ®MIIS88 E2l0R|IRWHE) OEMOONY M. (12, 13, 14, 15)
Read the poem and answer the following questions. (12, 13, 14, 15)

BGICWOS] H@BO 6O “ag)nilail-

#656m06086) M AflSlddsnsemymy?

HEPNAAOTIOMIS 2D GaloBHE

£.21M) 6000 H3lealGlldlenan
GBS HQBODH®IO ?

(@) @Galall (b) @oom () GmOYd (d) eoigm

¢ o o
SOOI OIS 2| 10H06NE EaloV®OQ

(@) gl (b) @oom (0 ajomyl (d) emovm



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

3 8552

@OO6S UGIHg0emIl ?
(a) Qllmelddoll (b) VIO

(c) eruorIDEMIOoN (d) oowallengl

a®} algiedileal aldlegoerial ?

(a) @ (b)  !YaOORIBOMO
(€) ©6IMEBAl al®HHOM (d) aleneeE® UM
alodg - 11
(18 @2d«6))
@20 - 1
@EEN3D MEMMNI QLIHMTIT HEDO0 af)i®is (e@omaslaljo MIaLIeMo). 4x2=8

Answer in two or three sentences (any four).

Qf)NHEN HEMAMID AUODM ?

G(306MMIOS G2 I0B|OTIM @OMdEIMNM alO6m® MOlS] ag)sy ?

Qg)®} ©21Q®] OBHIMEIdlenomosm gdlafl@o ?

®elenH@ alomiallen aliemie) cvalletuarmewnsy ?

MM aISHE alDelMISEl@ nElenHiMEmENDIOHHWOET) ?

()@ H688 ®OmBOMOEDY MIEMB06M alQIEmO ? ag)M &l 8. 2I0GleaMEOMNTEH:06NE ?

390o - 2

afomB1aljo @EERIDABIN HOBHOORLI® . 5x2=10

Answer any five of the following.

DY ©aIQ®}. allPHid HAlOTMILIH. (87 QLIOBIMOHELH)
Mlal@o® caealo — EOMON Ko (BRAIBMOHEHb)

[ Turn over
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24.  GRIGUMM, 1U0RIMRM  (ag)@IRLlotenPI®IH)

25. allo) agellow allslofl. (el16@oto mOQidh)

26.  SHENMO @PLACLIO MIOGBWO MM @REEZ0S (M0 (OMEL @YD)

27, enlamy@mo, aldflal (QIOsEWI@ (o Ie@oUslend)

28. dllemstd agadles adltmosmy cleM @ @R@OW ¢.2106lo)) (92l®emow allato GoldHe)d)

alodg - 111
(18 @ad®6))

38900 - 1

age®®laljo EEMBEMAEBIN OODOORLI® ). 2x3=6

Answer any two questions.

29. oMl aflslay @ovs; alojeEloamesam ?
30. aQ® ®OEOTILNER OeB®O0 al@ldldlaleemsmmosm &hafl alo@imMae ?
31. Wl 2flamoaIramMoIom &Horemenns) ?

@00 - 2

a@o®mElallo POMEMADTIM HOEBHOORLI®H. (34-0 26O E0aiABITY mldamimuwac®lo
OO0 f)PIB®ENS®OIEN?) 2x3=6

Answer any two questions. (Question No. 34 is Compulsory)

32.  @ORHMIBORHNIC] Q] HIG1OQ LI
33.  al?Ufl BHLI0aIEDIN, GUoato AUWMOSIE QIOM MOQEMWD ag)O®Ejoo ?

34. (a) Qg)ROODLJOC EIBMM®OET) IS, af)OTDOOHHWOENA ?
@R 1M

(b) ‘@OQQIBO OMINS L0OMVo MIFl Galddhio’ agMM GRIeld: alOWIMM @RMREAIODNHIENT ?



35.

36.

37.

38.

39.

40.

41.

42.

B8%Wo - 3

afomB1aljo EEMBENEBIM OEDOOHRPIBId.

Answer any two questions.

£ IMORITHIOMTIONN AlHHEMAII0 HEIAOOEMAOII0 Ag)PIMdb.

062R@ QODOTOM AldhHMAI0 HBIAODEMAOUC ag)PIB k.

ol — aigaallm — aflaidlead.

alddg - IV
(25 @0d#6)

ag)Qld B210BIMTIMI0 OBDOODLI® k.

Answer all the questions.

(a)

(b)

8552

2x3=6

5x5=25

dlemgles allgpeleEmldd oD aldato MSOM MVO®(B)) CIMIGELI0AHUEBDHNIC] 2]
MIAOYOTTIOMOD HETTDPI® .

MemBid ale@m:siem AllemoBImOWHNIG] 2] MVIOIBYTIOHMIB] HEBTDPIEI:.

@R 81 @D

@@@o Qflaliellddla] ag)Limids.
60105ufleal (Blelo 2iSAl QIe.

(a)

(b)

@R 81 @D

@Sl 6mElo@ @M@ Aflvlo.

MleBRIOS (NOQETIeRl HISIHAISE H:10M0 al@lad@lHOMODM BROUIWIAQ|SIOHBIENE

A le@I0@ED (IrSlaaglay 8oy MleaiBmMo QOO d:.

(a)

(b)

“alensemm emwodtll” — ag)MM al3|Eleal @RU@o VMo CLOHBTIEd ag) LIk,

@M al@léyt — )M alGOTOLI ERUIWOo VMO CLOBIBHIE ag)LIB .

@ L] 851 @D

al@yeomo ali@lalend.

Quote from memory.
GOUINTIQEL|EQI ..o

(a)

(b)

aloello)) woealo.

@ 6L) 851 @D

H06)6MH6I6)61N)

[ Turn over
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43.

44.

45.

ag)Rld C2I0BIETIMI HEMOODLIDI:.

6

alddg - V
(24 @od#6))

Answer all the questions.

(@)

dHMOOMIUIOMBNIG] 2J0 BDUWIOM dhiBlHeO8HNIG]ollo ag)o.@dd.enfl. es
GRIRIMNABI@ aloondUBlHNMO®ONMEJ00 ? QllaIGle .

@R 1M
Sl9j0l0 @oaio elwie el @mMEallenymMe’ dieloamm allaoeaoen.
al00BINOED @DMValBmoss] ANltdE]ddlen .

BBMUMHE — )M HLOWDHE) 60) @DAVOBMO BQOOIBE .
@R ;1@
OODHD — )M HLOWHE) B0} @DAVIOBMO ag)PI®Idb.

DOWMETRI0 VD00 — af)M AflaH@O®® EDIVIBAOHE] HAIMIOTVOHNPI® k.
(TSR N [

URAUL2} AU GOIWAlHHSETBEI0 — GO MVIRHHI BENLIOWABHEEMAI0 — ag)0m
QUfleHQOE® BOMaIBMIBE] HAIMYOITVODPI® k.

-00o0-

3x8=24



No. of Printed Pages : 5 8553

Language — Part IV — KANNADA

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Bewdned 1 (1) T, DSBoDd =0TEo FpEoNTIode DO HIBOTRIERY, T3 FoNY DT 3T
3O Izeosde BTA BoedpsTTON SYR0.
(2) STB), WIOHED BT WP e TN, YWTOILENRD.

3]
£

S

won -1
(15 @osned)
pitaleMriad mgwsa& 302 20TOND. 15x1=15

Choose and write the correct answer.

1. R0TRBSHETT TFHOT T, TS PR 3D
() cﬁso{ () oI (Q) mq{ () =

2. TIIWZ 0TT .
(®) 3H () e (A) ©RFS (83) DARFTI

3. "00R IIT RORW!, b TIWFWE H[TOD W’ DOT TORT TOHFD

(®) BI0zT (&) 23e0d (@) RREOT (83) 2.20.9¢.
4. 2000 [P, HOTY WWPOAWST FOAPR — IZID.
(¥) QeFE 3T (8) 3FF (8) @I (83) WoET

5. 3Fzo&eod xoom@j\dwmo{ TSR,

() o8 () %% (2) @3 (3) ©3,
6. ATTRIN T TROTY uTRT SRe0AT.
(®) ToN I (8) ®HeWd TR (V) ITTOD JRO () FIT TRV

7. mi%sg ROTT 03T ?
() &3 (8) QY (a) 3{ (38) W»

[ Turn over
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10.

11.

12.

13.

14.

15.

16.

17.

18.

oA, SeDINIK TAGTRT SeTTH -

() 2deod (¢3) mseé TBPART (V) ©.00. N
OIFETOW TTI, BOA WTOW0.

(®) Tow (2) I=nF3 () FFERD
TETV0Z DOLNTN 2,0TR .

() 20D () oo (@) J_=F
BNDTIRI m%éeoda SE .

(¥) B BBO (Y)W () PTSIVLO
WRBEYIVT WEING VOIS :

() 3BRTWO JoN=Tes () rbaéeacﬁjd

() BIFYTEFS (3) TomvT3
MRTOHOD mws{l 30 20TOND.

() TReogy () =3Beor (8) BB/,

WL QW 03NB AR[A BTN ?
() ©0d IZPA () TG ABPA (@) 303 ATPAI
‘TRTT [OBI; TR

() ToT (¢3) TOFw00B (@) %aofmdmés

won - 1II
(18 wosned)
~een -1
BRLTT JJNYY BRPTTTR m@ﬁ& SUZORO.

Answer any four questions.

IRBH DOTVTRLT 03T ?
WTRET T DF QBRI 7

TONOTR IRCB WONAT WO JRCE3F) 03RRI ?

(8)

(83)

(8)

(%)

(83)

(8)

(83)

?}9
?‘@
e1)

R0

TOZC3T0

4x2=8



19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

3

de%omm@l D[DRTED O30T TBE3THR FOBIXRTI ?
WIPFTOTI AR ?
JED 035700 W mw; TOTRTS BRBT 2

o -2
33 3YBOT @%ﬁ%ﬂg C3RR)TORTR md§ T, FoFToN GVIDA0.

W J -
Answer any five questions briefly.

QEIOI Ten @agdri@océm ?

B R0H DTERe 9

TZO T BJRTEY 03T/ WD, VESFRLRNT 2
08¢ TP oﬁmméda 9

aseas%i O30T BSTOTRNT 9

3@5953301 OSRIYTD PONB 2

AT DYORTT, T QR WOTD 2

R - 111
(18 ©@o3ns)

8553

5x2=10

& $9303 TINYY B QRNO0T SRYWEAL HT@ TIHOK TP, LoD, (34 S T,

BTIYOW)

Answer any two questions from each section. (Question No. 34 is compulsory)
aon -1

BOBRIDOOIN DB @33%5% TONR DIJOTR 5&&@0&%%0 9

Y TWWTOLIWTIN WITD TN %o?)\csda 2

NOBNYY DJUY WANYSN DO BHOIN E9RTIT ?

2x3=6

[ Turn over
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32.

33.

34.

35.

36.

37.

38.

39.

4

en -2
weswmofmmdéﬁ 6@% 3¢ WO RTI. e ?

TEREFTI BT BR0DI, FO@ QIO ZRLATI ?

8 wdé mﬁw@i TRRFNRNRD.

Quote from Memory.

(89) TOETVOT eeeeerererererrerereeeaeeas
............................... TPVBIY.
[Slatvp
(8) ™D @dasaéde .....................................

.................... Aon, FRTWOIONIITC0.

i -3
55@165 mrmesoam‘% 2300,

ADEEQETE FOHODZ, DWOA, NTOTBOFH VeRO.

BIFHITON FTPIB/I), QB[O YUTRTTH VCRO.

won - IV
(25 wosned)
BRLTT QU TN YZOR0.
Answer all the questions.
(¢9) 2OTEEOD BEDOW wéw%osa 27} QTR
PO
(8) HBOITOT [eOF IOTW, VTOA.

() 8@%033 ASTORDI, EYR.
P

(8) B CIWTZO VB[ TIRS, Tert [eSFATT ?

2x3=6

2x3=6

5x5=25



40.

41.

42.

43.

44.

45.

5

() ), WO ROPIOOD AWF Y ERWB/OZ §ped BeRHTONR T LT0WO.
Slatvp
() B[MFBE T 80 TOS0D [NBRLTVHVONONR TF, TOWO.

‘5§ﬂ03 oﬁmi =oeen’ — 38 mdmém‘% WO,

8553

() FBNT 3eT — 3eTY BEFT T — BRCSOD I — BRIV BT — STY TEW B — TRITOD

TOBWIOD TR — TODED — LOQTOSFAWOT TWTIT &ReS.
— B3 BPOLRNDI), TREFIRDR.
PO
() 38 SO THTNVR TOBHOWR FITW MOT[IVTTZ, WTOWO.
(i)  All the glitters are not gold
ii)  Even if physical form is small, the fame is big

(

(iii) Barking dog seldom bite
(iv) Face is Index of Mind
(

v) A Strong Mind in a Strong Body

~

won -V
(24 ®O3ND)
3ENT TJNRON QW[TwON YZORO.

Answer the following questions in detail.

() PET-TNO3RFEFST ﬁmoﬁw%ﬁ@l We3ER0.
Slatvp
(8) S EREVOD HTODBJIY, DWOX.

() T T NWPCET TEMOND ?
PO
(e3) 10 TNION DOLITZY, FOZTN DTWOA.

83 3YTOR DWODNTY CBRPTTTR WO, BB ToF TR
(©) ?Ddadfaém x)’mﬁé
() oD TWeIT THoIOPTT

-000-

3x8=24






No. Of Printed Pages : 7

Time Allowed : 3.00 Hours |

Instructions : (1)

(2)

15x1=15

[ Turn over
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Register Number

Language - Part IV - URDU

[ Maximum Marks : 100

Check the question paper for fairness of printing. If there is any lack
of fairness, inform the Hall Supervisor immediately.
Use Blue or Black ink to write and underline and pencil to draw

diagrams.

UL Wi ey bzl Lespile (1) 1S
G LA ke Lo (2

PART -1/ Jil -.»
[15 Marks]
Sl ()
(Choose the correct answer.)

< (@) ! () S ()
_d;’d/}”)’b‘«CC?J&VJ u:-.:«JL//H(o 2

S (@) ST (D) S (L)
-glai utﬁ% :_,/)fcg/"uziﬂc/’;' .3
Iy JQTKULJ);/U),CUL:&,,Q’J}Q 4

(@) —F ()

Py (u)



8554

22.._611’}2 (v-:/)

2
AR et 5

27 (@) B (L) o5 ()
SN A S 5 .6

A @) 3 () = (L)
(Match the following.)

(o) (L)
Sl =BHIB () el T

wALAS () ceitbr 8
<y (i) Pl 9
L2 (iv) L& rng .10

:éb.,iz/?

(Write in brief.)

s FdUeeT 11

e Portelns .12
LS Fee P da 2L ST 13
b AP i S 1a

?%:ut‘:’u’;@/d“’c;wd}” .15

@)



4x2=8

5x2=10

[ Turn over
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PART -11 / ¢% -.»
[18 Marks]
SECTION - 1
2L (4) s UL
(Answer any four questions.)

¢ ‘at"nd”laéuf"u%uw
?Lag/f”zﬁ'@czg/ di'/'

st 3T bygusnl Al P gl
e bt el ST

¢ e daperd S

08 2 0L AT En s und e o

SECTION - 2

SIS AN Ay WY Py s

(Answer any five questions.)

S st b UL TL Ao Ll s
Qéif./@/:‘»’/ g cf%u'uu/ pfﬁg)f‘/
S Bl g g Ut Ui gt U5

S tblUsd e s S EL

.16

17

.18

.19

.20

.21

22

.23

.24

.25
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2x3=6

2x3=6

?Lg L,‘J/J/.i"/,..«gu:u/’d/cf;ﬂul."/)ﬂfd?
sl Aslisy
o Kbty b

PART -II1 / (% -.»
[18 Marks]
SECTION - 1
: g@’/’:"u;‘i.’ ’ﬁéuf;,u:/b@"ﬁd;‘
(Explain any two couplets with reference to the context.)
b F bl f
Py b C8 203 Sl

cinlt Jp 6USE
V9 '%uﬁ u!«'@:&}@}

St FJ m’/&/bk[(i

SECTION - 2
2l e el
(Answer any two questions.)

L AP LSl
Sl Jol Ko Ve Lot
Y SIS v L ()

L
CEBAD L Ll e oe A (L)

.26

27

.28

.29

.30

31

.32

.33

.34



2x3=6

5x5=25

[ Turn over

5 8554

SECTION - 3
& ....J:?Lc;«lﬂr‘ ;}J:;J:J;;'Zy/;

(Answer any two of the following questions.)

_E AL I s B UL S
—Z‘JJC“‘/}’é&_—?}JJG‘/’/}"’uf’

e ni S8
PART - IV / (/g - >
[25 Marks]
A eieF s
(Write the summary of any one poem.)

_H I el o 217 P (a)
b

e UK PSSO db e F )

EPE N DS (Y VSR ANt S
(ENZINF P TUEUE ()
(£) Luvte Yo —-aem- & —eeeee =l Tz (i)
(F) Bbglg caeeeee & e Ko7 (i)

.35

.36

37

.38

.39



8554 6
e L e 2 sE e HFL 1
uc’izl?}‘cc”—u&’ﬁ/ i UC'J
S IS AL ST
Sento und® € Ak
£ ooy S BGP
93 Kol s$ S8
o $Te
i 136 nis En 20
DUl
C e K Es ()
S IS ASLST ()
e b/ LSSl (i)
‘e teerSab Sty W)
-ﬂ}%f@/;irt{(gb‘i (v)

: ’féx/“uﬁ};ﬂ{cuydzﬁd/d}

(Translate into Urdu.)
We should have reading practice daily. Books are the best friends. Good
books enrich our knowledge and direct us towards what is good and bad. We

may give books as a gift to others during occasions.

L 25 P L3 S5t

[Write any one of the letters]

LE WL LS L (e (a)
L

_E WU en e vl S5 (b)

.40

41

42



3x8=24

7 8554

PART -V / (f" - 2
(24 Marks)
: éu:m?_uwgnggguw
[Write the summary of any one lesson]
_é.f!)éuﬁf’u(fﬁ'f{ “.JL;Q'UHL F/Un” (a)
L
g A i (o)

()
L 2y folb Ui Fe Ut
[Answer any one]
WG AL ()

L
“us” SUEESUE (b)

2 08

I S dTN (@)
L

&g feobsen§F (b

-00o0-

.43

44

.45



No. of Printed Pages : 7 8555

Language — Part IV — HINDI

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

o (1) BIE & @3 & A0 JH-99 5" Al | Afg Tezd § HE FH TSR A, A T
hefl THoaTeh hl gfed i |
(2) U P IW A & T e A1 ShIet SR T ITAR Y |

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

T -1
(15 Marks)

& SW AR fafan | 15x1=15

Choose the correct answer from the options given.
1. HeE™ i =AY il o faved €1

(31) (37) =R (3 A (3) d=
2. ‘TYoyar’ Ul o THio 2l

(31) ofdve foE Surea™ (31) @™

(3) eREwRE ‘o=m (3) HAEAE agael
3.  YHefes & T B

(37) HeE™ () @ (3) =@ (%) weREt s
4. U 7l

() 3™ (am) = (3) P (3) TR
5. WY AT 1 SieH L @ 2|

(1) gEIa (a1 @I (3) 9HR (3) =

[ Turn over
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10.

11.

12.

13.

14.

15.

9 W 9 oot &1 fnen foega 2

(31) =IPRE (3T) JHE (3) YIS
e FIE | U g |

(31) Tl (a1m) g (3) Tl
AT T8 o Wfear S o

(31) T 4G (3m) TR T9 (3) FAHY
wifersit 3 et & Tl |

(37) & (am) S aA (3) e de
Eare| o |

(31) AEATTH (31) Trel s
(3) H&Rl garfsw (%) A«
TS HH W e B

(37) Afqaaras d1 (3T) wrEErEs 991
(3) woHeT=h §al (3) HgaEE G
forsioor & I g

(31) o= (am) =R (3) dH

1 GHS - TH Uee T I Tl 38R ITE 8 ?
() 4§ (sm) = (3) =

TEH - I8 Ve Ty fepanfario h1 Sereo & 2

(31) Gfqar=es (ORI CIEED
(3) HITaT=EH (3) TIHAESR
G o T R TP 8 9t I8 g

(31) HaIH (am) fagroo (3) fowa

(3) wacES

(3) =redt

() =T

) =Rdw

(3) =

3 =

() su



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

3 8555

T - 11

(18 Marks)

AU -1
foredl = el & dfara s fafen 4x2=8
Answer any four questions briefly.
Gl SheilX ol S <hel gAT 2
qTereT hierdl st T fohe =i 2
T BT o AR D g ?

AREFeTe aqael SAfaae o a5 1 hgd © ?
@iy ford hed §2

Stter # fa1eror o1 R T © 2

TN - 2
ol uer vl & wifara s fafew) 5x2=10

Answer any five questions briefly.

HAfFaaTeeh G fhd gd © ?

foran o foraa 9 8 2 9 fafEw

‘R IR P e S gdam § a1 FeeE o geam ?
reiIHeR forIooT oh1 SEY A9 1§ 2

UG i YR ST |

foRenfargior ford whed €2

= gk ki giewm fafa |

[ Turn over
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29.

30.

31.

32.

33.

HIT - 111
(18 Marks)
AU - 1
o=l St vl o S ferfEm
Answer any two questions.
ST 1 o7 2

() G a1 Ted Faey
(31) ORI =qae i Gt A weEe et | €
(1) Hars TR o e ¥
(3) fSeh =t et i @ 9 72 21
AUAT

(I) et T 9RY
(31) g ¢ fge! TR SHMT 3T o119 # @iedr =l S|
(31) oo 9 Bt 8, 711 | TR |
(3) A ESHAE_ eff

‘TH-UH' THIH! % TG I 6 A Fasy |

3T - 2
fordl S wsHl & S fafgu) g7 den 34 fard €

Answer any two questions. Question No. 34 is compulsory.

feu T vresf & v~ fafa
(1) e

(31) AR

(3) w4«

T AT :

(31) TH Yk =X el ST |
(37) o8 W2 |

(3) Tl o=l q9 3 S R

2x3=6

2x3=6



34.

35.

36.

37.

38.

() sk wssi o g wen v fafe
(31) S $¥R 1 7 HE T -
(31) <0 fed =mean g -

(3) il Hadt IMHER HIAT & -

3reraT
(II) == S&(elT
(31) Y et Fafean Rt
(=) Tirar A fopare 9@t |
(3) 394 =M feam

3T - 3
gl & 7ot % S fafew)

Answer any two questions.

WM Fi 39 T o6 #T T2
THaTgaTet s shgeht YU SR HLdT o1 ?
TSTRIH o TR 1 4T ShROT o7 7

T - IV
(25 Marks)
[t uter w9 & S fafay |

Answer all the five questions.

(3T) FYET AT hifIT |
A T2 WA v, Tl 0 o % |
T U1 g o1, T Se AW |

8555

2x3=6

5x5=25

[ Turn over
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39.

40.

41.

T e : (1 T 79 faf@n) |
(31) <1 Sk, . TR UG | F=d Wil Wie & o uran ysives % W 99 fafey )

AT

(1) fohame =R =8 ool i IR ¥ YRl YehRH, SATRTENE i Teid HIdt aa &1 Rehmd &id g4
T3 fafem|

SIS H TR it |

Translate the following into English.

(31) YTEAM it A & fAU 32 STAET B9 6 HRor S8 IR SRl e € |
(1) Bl o forneff e ¥ ugE o WY g T HIE HU1 HiE o =@k

(3) UHd F FTIR 3T = IG5 ol Thid T AT 0t fosa 71 2

(3) ATST T STk kel Skl AN ©

(3) "R § fSamare =31 2 |

FrAfafEad Tee i Tl T9HI & SW fafE |

Read the following passage and answer the questions given below.

YU ok SiTa 1 ATTH FHA HIAS ST T 71 I J101 SIS i T o HROT fH 1 ATl 91 987 |
ST STeH AT A LA & Tl 39 Foredi ofR fisll & 9= 9o & 9 H Tk gaX vt fean | 351 ket
TR ST 1 39 TWaR YRR ¥ o BT & g el © | Gohdd = w07 <ot fa i ot 39k fors iR fir
Fe-e X U T | R A Ha, T SAIR! HIeH TE foR WY o7 oot B @Rl @ R e, Faw

Tt fom § wifa 9 75 = § 1 o1 of I3 fom sifam =t 9o B W <, 9@ 7w R
UIH :
(31) gehua A fow =1 fmn ?

(M) GHIA & STTER o 1§ ?

(3) HHUA J ST Tl 1 T AT H L @12
(%) “omga’ wsg 1 faeim wisg fafay |

(3) =@ T 1 3fea e fafeg )



42.

43.

44.

45.

() HA™ WHITST : Match the following :

(a) TR - 3 foR Swem ERedy
(b) IS - HeEH
(c) Y - WU e feTeRt
CIEED - TR oH
(e) fewReft - Hfoel o

- BREw @ a="

srerar

(I) fH™ SRITST : Match the following :

(a) =&l S EEEIEERRCEEI
(b) @ - gHERS
() @ - e fRafaRv
(d) FHT - Hhdaygs
(e) T 2k EEORE
- &9 9YH
T -V
(24 Marks)
[t g o foreqa s fafau
Answer all the questions.
fordlt Tk oo W ey fafa
(31) diTeA
SbE])
(3T) TIfeR

(31) Gr=s= hferdn o1 |9 fafE |
e
(3m) ‘e’ Sfear =1 T fafaw)

(31) Elaren e o grie fafen |
T
(3T) gaehi @1 AN H T fH9iid sifew )

-00o0-
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3x8=24






No. of Printed Pages : 6 8556

Language — Part IV — SANSKRIT

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Note : (i)  Answers should be in English, Sanskrit or Tamil except for those which are to be
answered in Sanskrit.

(i) In writing Sanskrit, Devanagari script should be used.

PART -1
(15 Marks)
ANFANGAT I3 Tferay Sw foed | 15x1=15
Choose the correct answer.
1. S -
(i) ST i) oS (i) <Y LDLIE
2. & -
(i) Seerd (i) Slafl (i) Csr&EE
3. gl -
(i) LIRS (i) GCsmgser (i) @eeser
4. 3fe: x
(i) e (i) @fe: (iii) 1=
5. STEYIERY X

[ Turn over
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10.

11.

12.

13.

14.

15.

E"Iﬁl: X

(@ T (i)
T + ST -

() TUER: (i)
g + A9 -

() Fdu (i)
T + 3T -

() o= (i)
adq -

() qA+ T (i)
Sfegista -

() wfag + &= (ii)
39 -

() T+ T (i)
IR

(i) dch: (i)
ga gfd a9: STRUd |
0 == (i)
orett: foem srvafag

g + of=

wfers: + A

T+ @

(i)

(i)

qon + T

wfet + 3

9 + 9



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

PART - II
(18 Marks)
SECTION - 1
TUTTH YA TehUSH 3t foread |
Answer any four.
HET T ST T 2
T Gral GLAT Herfd ?
HET T GH: A ?
= A T fore ?
ofeTs: w: ?
J&T: h: Wi Haifd 2
SECTION - 2

USEMI YYAMTH Tehded STt forad |
Answer any five.

SATCIAM 14 TSI SR FRTIRm foh 3131 ?
g: g foh oy ?

& & Teh fredmy: ?

S A: Y e ?

Hiq foenfed: v a1y s1gpa ?

Ya: HF qU: AU ?

ITH: ol IUIfersrd ?

8556

4x2=8

5x2=10

[ Turn over
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29.

30.

31.

32.

33.

34.

35.

36.

37.

4
PART - III
(18 Marks)
SECTION -1
g gy I foreaa |
Answer any two.
fermgeai s stregaf ?
TG 7 fersrrd 2
o ;TR ?
SECTION - 2

ga: gvEr: I feraa | (e 34 fem: )
Answer any two. (Q. No. 34 is Compulsory)

AR H HAT FHE 3TY ?

tvggead foh deeRdfd ?

(a) Tl ST higEm: ?
31t/ OR
(b)  AfCHHH h: HYUL: ST 2

SECTION - 3

A ergEaTT ferea |

Conjugate any two.

wuIfor fored - o o1 - WEHUEl - o2 THR:
I YT - IR - &g AHRR: |
TS HTg: - TEHIS - e Ah: |

2x3=6

2x3=6

2x3=6



38.

39.

40.

41.

5 8556

PART - IV
(25 Marks)

T UPMTY 3T AIGN0T fored | 5x5=25
Answer any five questions in detail.
(a) SR HRIHATAT SiYAry (oY YEia: Teihgd AT |
34T / OR
(b) SATEA Fed :
R ENE (i) fermmusrEm

(a) W& T yafad scqd yfd 7 formus forad |
1@ / OR
(b)  werd: TR T i, e sweafyafd i faumds fored |

HEATHAUT foraa |

Rearrange the sentences.

(a) HRAQIE =R HHg: &Terafd |
(b) T HEIHh feHeE: Werld |

() ST Sl ST Y=< JSul |

(

(

[oN

) YRS Hhe HITHR UT: |
¢) 3T TTH HEAYS: |

T U YA IJafur foram |
Read the following passage and answer the questions.

38]: Selqan efd | 58] Friied T TR | SRR: oFid HeR: | 3RRE: Here fAfare sifn
T | qq TS Wafd | TS Fa: ST I o HER 9aa: | 38 a0y e wend gaf | ek
UL TA: | T[S AUl TR | TR TRAATON waaa STl AUt waf | STEeR! 9ed: YehIerdT:
BSIESE!

G -

(a) 3&H: higel: ?

b) 3% Y FEd?

c) TYE: T WA ?
d) IRl wY Faf< ?
e)  TERUET: IO 2

(
(
(
(

[ Turn over
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42,

43.

44.

45.

(a) 3TTATE HHA -
Translate into English or Tamil.
Tehal TR FHN: A1 Ay > far g fogia: stwe ) e T e w stEiq
TI: FAN: Afchigefa w1 sifommd srpd | FReR: FUR: woa faarfaen wrf wUfd ¥ | T
o e STeraeRH 3T99ar | d o eH Sshafag TaeH eTge | FReR: am: 7a: ar FHariar |
TR faemedur @ 7 STIuer | 3T Sfifod: 68 I $9RM 1@ smEead | FRak: $ar: Javed
YO, 3T |

3194 / OR
(b) FSEa
Match :
(@) o - T
@) SHIE - TER
(i) AIESH - MR
(iv) SEH: - T 9 &
(v) WM -  HhEdEs
PART - V
(24 Marks)
FATOT YT AT I foreae | 3x8=24

Answer any three in detail.

(a) IIT Aehlibd: T fored Hrfare fored |
31T/ OR
(b) Fumfd gHifaTed: < fowead |

(a) TN TN s S fowread |
3rgET/ OR
(b) AN 3fd ST AT ST AT |

(a) HE(-¥e8 HYUiqan foed |
319aT/ OR
(b) TrEfgeaa fgoes famd |

-00o0-



No. Of Printed Pages : 7

8557

HN Register Number

Language - Part IV - ARABIC

Time Allowed : 3.00 Hours |

Instructions : (1)

[ Maximum Marks : 100

Check the question paper for fairness of printing. If there is any

lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

PART - I/ . Js¥ ;a0
(15 Marks)
SECTION - 1

15x1=15

Caadl / L) Bleadl ol

Upi/0ls)

: paaall Ol gall jza1 (Qall)

(Fill in the blanks)

Al faa .1

seadl¥ea .2

olal saasins o L Ay .3

(V) /adv)) D oyl die (g jac 455 4

(Gyus / hias) ao Ll Joall Lo

[Turn over

ke .5
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2

SECTION - 2

W L PR

rad paall g

o Ll JS1 463 Y

WHIENE

SECTION - 3

sl gollas ()

(Match the following)

B, L

B, i ol

&1,

QGJLK.”

R QUNRY

.6

.10

: ol on cvalie J yaie s 150

(Fill in the blanks choosing correct word given in brackets)

Colashh o Ty ool o LYo o )

I X W

Laal oyl

A

.11

.12

.13

.14

.15

(o



4x2=8

5x2=10

[Turn over

3
PART -1 / - ‘;’.Lﬁlig,;ll
(18 Marks)

SECTION - 1

8557

: Lo yally Ao WY oy day )] e waT (ll)

(Answer any four questions)

¢ it JS 8 allg ¢ L Y1 gy o

€ o Lall Jloaial b plus s tale Al L il 5 i
@l den s jojallise ¢ yac aly i

¢ alall - i ga L

¢ oS 5€ g Ll aly o

@ LaallLogic Al g o gmse ol Jud o

SECTION - 2

.16

17

.18

.19

.20

.21

4oV Y oo duwar e

(Answer any five questions)

Y oLl S Ladl 5
e e. Jgu o Jae

Y oLl ¢ ganll LS
aig . ale . JLo ally

“Lptsaly o) 7 gl o

¢ bl IS Gk

22

.23

.24

.25

(o)
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¢ Liall o el g g ool oyt cvuallsale .26

Y olgYla s .27
Goly il il 8 1as (a,<s
sl o sally ol 35, 053

-paiie Jlsa¥l e Jsa JS

PART - III /. &1l T 5all

(18 Marks)
SECTION - 1
2x3=6 : elialy 45V o jluall o sl pa 3 (all)
(Translate any two)
Loy S¥silegl Ji 5 .29
eladl hia e Mu¥lea w5 .30
e Lall 3 s e gaaal )] .31
SECTION - 2
2x3=6 s Euss La ¥ e gaiS o IS JGL i3SI ()

(Answer any two)

el Il ¥ ooy pelidl e S Ts sl g dule Al s alll Jgany JU5 JU5 dic Al gy 5508 3l e .32
(5o Laall sl 55D -l yadl o ol SN el i 3 Ls



S 8557

58 OLSYIL 33 Ll L€ sae o Lo £ Jy abs g il Al Lum alll Jguuy cincas JU5 olise ol e .33

(o yillslgy) Aya dule das b Lo alll Ria

oS0 1S 55 MY g pSabuaal 1 iy ¥l 5l Sy JU5 JI5 i Al iy 350 ol e (2) .34

2x3=6

[Turn over

(ol o15) 15 I

K]

¢qen Lal ptiadl wals JLE L (D)

SECTION - 3
t Y Ll WY o il e wal ()
(Answer any two)

CULY) o gy Liaall Jadll a5 S3I .35

Ay e Jelill Gye .36

(ol LoD

] CYEN JUR TS S & TR ()
il dogns Ll (i)
ool gl Ll (i)
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PART - IV / . 0500

(25 Marks)
SECTION - 1
5x5=25 b ginall plaill i<t (alf)
(Quote from memory)
aaile i S KVCUR oo 38

Y eyl a0 .39
(Explain the following Poetic lines.)
Ssiy S L 3o ol ok e s
il gl 5 shamall JSI Lo
559 i liliall ge U35
sl I s i Jullh el gy 131

SECTION - 2
pelial Y egala¥l pa s (o)
(Translate the following Hadiths)
Cogun all puan 3L g3 o s g e ll) lan alll J gy JU5 JUS i el gy plie (s plaiic e .40

(dle 3ai0). o,y Lkl cans o AT da st oo Llba cia ja

Lo L L o & 05 033 02 b g e el e alll J gy JU5 JUG i alll gy 5yl sl ol e 141
(L;.l.o).ﬂlj djldﬁ‘blj‘)).wubm‘e.k

s e ongutiiall dlll gl = 2l g e dlll Lun il JI5 JUS e dll gy olic ool e (2) 42
(oladl 813, Jat Lo Ll o 5 Lgrital 1y Ll
J
o ol g ol el g e Al Lam el gy J15 JU5 i el sy slaa o i L e (D)

(lasolgy). "aal deualdiVgeual Jeaal gu ¥ da dgainlss



3x8=24

7 8557
PART - V / . ualaliT5al
(24 Marks)
LW UL e waal (i)
(Answer the following)
Naiosguall 15T e i<l (a) .43
o
ol 5 e i 3S) (b)

Msio GlSieYl e 0iS) (@) .44

13

9
Habo s yaall ol y ghanall e WK (b)

Al deay pyallane o jee il e Ulie 3K (a) .45

13

K]

ale Al dany (g paall S 6S i g dane 3l e UL 3K (D)

-00o0-



No. of Printed Pages : 8 8558

Language — Part IV — FRENCH

Time Allowed : 3.00 Hours ] [ Maximum Marks : 100

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline.

PART -1
(15 Marks)
Choisissez la meilleure réponse : 15x1=15
(Choose the correct answer.)
1. veut aller a la plage.
(a) Kumar (b) Nitin (c) Ramesh
2.  Les amis se sont réunis chez .
(@) Dominic (b)  Abhishek (c) Dominique
3.  Vijaya n’est pas content de
(a) Son frigo (b) Sa voiture (c) son four a micro-ondes
4. apprend les lecons par coeur sans comprendre.
(@) Kumar (b) Karthik (c) Kavitha
5. La visite a Paris est au début .
(@) juin (b) juillet (c) jeudi
6. Vimal veut téléphoner a son
(@) ami (b) pere (c) frere
7. Le pere de a refusé carrément.
(a) Mohan (b) Satish (c) Rajesh

[ Turn over
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10.

11.

12.

13.

14.

15.

n’a pas d’ordonnance.

(a) Sangeetha (b) Vijaya

Vous voyez

(a) mon (b) ma

Nous croyons que tout le monde
(a) wvas (b) aille

Si elle ne travaillait pas bien elle

(a) obtiendra (b)  obtiendrait

Vous avez fini le projet le mois

(a) prochain (b) aujourd’hui
II faut que je un peu.
(a) réflichis (b)  réflichirai

Je n'ai pas acheté

@) de b a

S’il fait beau, nous

(a) pourrons (b) pourrions

(©) Aditi

ancienne cocotte minute.

() mes
au zoo.
(c) ira

de mauvaises.
(c) obtient

(c) dernier

(c) réfléchisse

forét-noire a la patisserie.

(c) dela

aller a la plage.

(c) pouvons

PART - 11

(18 Marks)
SECTION -1

Quatre au choix :

(Answer any four)

16.

17.

Mettez les verbes au temps voulu :

(a) Situ es malade, (ne pas aller) a I'école

(b)  Les écoliers (jouer) au football s’il fait beau

Faites des phrases avec ne... ni...ni selon les indications :

(a) Le marchand - rembourser - remplacer ce produit (au passé composé)

(b) Il - aime - la viande - poisson (au présent)

4x2=8



18.

19.

20.

21.

3

Complétez les phrases avec les pronoms relatifs : qui, que, ou :
(@) Jadore la littérature est une matiere intéressante.

(b) Le gateau aux amandes est un dessert tout le monde aime.

Mettez les phrases au passé récent :
(a) Le facteur (arriver).

(b) Tu (acheter) des sandwichs.

Mettez les phrases au présent progressif :
(a) Elle (montrer) sa cuisiniére a sa voisine.

(b) Le peintre (faire) un tableau.
Faites des phrases avec les éléments donnés :
(a) Cette marque de montre - marcher - bien - de toutes les marques (+)

(b) Ce restaurant étre - cher - du quartier (—)

SECTION - 2

Répondez aux questions (cinq au choix)

(Answer the following questions) (any five)

22.

23.

24.

25.

26.

27.

28.

Pourquoi la maman d’Aishwarya n’a-t-elle pas encore fait sa valise ?

Quel sentiment Arun éprouve-t-il concernant son nouveau poste ?

Pourquoi Kiran et Kumar ont l'air triste ?

Pourquoi est-ce que tout le monde tousse ?

Quel poste a-t-on confié a Arun ?

Est-ce que le réseau marche bien dans le portable de Dilip ?

Comment Avinash trouve-t-il les acteurs du film ?

8558

5x2=10
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PART - III
(18 Marks)
SECTION - 1
Deux au choix 2x3=6
(Answer any two)
29. Complétez avec la forme féminine de 1’adjectif :

(a) Cette route est (bruyant) a cause de la circulation.
(b) La valise est (leger).
() Clest une ville (ancien).

30. Conjuguez les verbes au subjonctif présent :

(a) Le professeur veut qu'on (faire) les exercices du subjonctif 1'apres-midi.
(b) 1II faut que les éleves (étre) présents a 9h30 a la salle d’examen.
(c) Jaimerais que vous me (préter) le dictionnaire Petit Robert.

31. Mettez les phrases suivantes a l'imparfait :
(a) Vous avez regardé un film.
(b) Elle a conduit la voiture trés vite.

() L’enfant a récité le poeme plusieurs fois.

SECTION - 2
Deux au choix. La question numéro 34 est obligatoire : 2x3=6
(Answer any two. Question number 34 is compulsory)
32. Complétez librement :
(a) Sijétais riche,
(b) Si tu apprends le francais,
(c) Sivous encouragiez votre fils,

33. Répondez aux questions a la forme négative en utilisant les mots négatifs. Suivez le
modele :

Ex: Vous dinez toujours au restaurant ? — Non, je ne dine plus au restaurant.
(a) Vous enseignez toujours a I'école ? Non, ...

(b)  Est-ce que votre fils regarde souvent la télé ? Non, ...

(c)  Est-ce que vous mangez quelque chose ? Non, ...

34. Mettez les verbes suivants au présent de l'indicatif :
(a) Les parents (se soucier) de leurs enfants.
(b) Mes enfants (s’intéresser) aux jeux vidéo.
(c) J(oublier) souvent les regles de la conjugaison.



5 8558

SECTION - 3
Deux au choix 2x3=6
(Answer any two)

35. Complétez avec les pronoms démonstratifs (celui, celle, ceux, celles) :

(@) Clest votre portable ? Non, c’est de Kamala.
(b)  Elle aime les colliers en or ou en platine ?
() Vous aimez les parfums de Chand ou de Guerlain ?

36. Complétez avec chaque ou (tout / toute / tous / toutes) :

(a) le monde aime le parfum francais.
(b) étudiant préparera le rapport.
(c) mes plantes fleurissent en mai.

37. Complétez les phrases avec les pronouns rélatifs : qui, que ou ‘ou’ :

(@) Jadore la littérature est une matiére intéressante.
(b) Jaime les contes de Charles Perrault je lis méme maintenant.
(c) Le géographe a exploré un pays exotique il va Souvent.
PART - IV
(25 Marks)
Cinq au choix 5x5=25

(Answer any five)

38. (A) Votre ami a raté ’examen. Il est découragé et n’a pas d’espoir de réussir cet
examen.Vous 'encouragez et lui conseillez de continuer a travailler réguliérement.
Imaginez le dialogue.

ou
(B) Dites Vrai ou Faux :
a) On n’est jamais certain de prévisions météo.
b) Karthik demande un conseil a son pére Sunil.

(
(
(c)  Vijay raconte a son ami ce qui s’est passé a 1'école.
(d) La mere d’Aditi s'inquiéte de son avenir.

(

e) Domini a une passion pour la médecine.
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39.

40.

41.

(A) Mettez les phrases suivantes au passé composé :

(a) Tu regardes un film a la télé.

(b) Vous achetez le journal d’aujourdhui.
(c) Vous choisissez les plats ?

(d) 11 quitte son village natal ?

(e) IIs ouvrent un bistrot dans ce quartier.

Oou

(B) Remplacez les noms soulignés par des pronoms COD et accordez les participes
passés si cela est nécessaire :

(a) Papa a acheté cette calculatrice en ligne.

(b) Jairéservé les billets de train sur le site internet.

(c) Elle a rendu la cuisiniére défectueuse.

(d) Nous avons commandé ces appareils ménagers en ligne.

(e) 1l a acheté son sac a dos avec une application.

Lisez le passage et répondez aux questions suivantes :

La petite Héléne est malade. Le thermometre est monté a 39. Mme. Vincent sa mere a
eu peur. Elle a téléphoné au docteur. Le médecin est venu tout de suite et il a examiné la
petite fille. Il a dit : Ce n’est rien Helene a pris froid. Je vais faire une ordonnance et votre mari
ira chercher ces médicaments chez le pharmacien. Vous garderez I'enfant a la maison. Il ne
faut pas la transporter a I'hopital. Dans quelques jours elle sera guérie et elle recommencera
a jouer et a courir.

(1) Qu’est-ce qui est arrivé a Hélene ?

(2) Qu’est-ce que le docteur fait ?
(3) Ou est-ce qu'on peut acheter les médicaments ?
(4) Qui va acheter les médicaments pour Héléne ?
(5) Qu’est-ce que le docteur interdit Mme. Vincent de faire ?
Mettez dans 1'ordre :
. Parce que nous représentons notre école au concours national de basket-ball.
o Salut Kumar, Salut Kiran ! Pourquoi avez-vous l'air triste ?
. I est dommage que vous ne puissiez pas venir avec nous. Mais, il n’y a pas de solution ?
B Mais, pourquoi ?

M Nous ne pouvons pas venir en France avec vous.
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42. (A) Ecrivez le contraire des mots soulignés :

~"

Satish a apporté un nouveau sac a dos.

@

(i) Ala sortie d'une salle de concert.
(i) II fait plus froid.

b

(

iv) Réussite a 'examen du Bac.

v) L’histoire est originale.
ou
(B) Associez AetB:
A B
(i) les comédiens ont bien (a) méme le week-end.
(i) Vijaya se méfie (b) le chanteur extraordinaire.
(iii) Kavitha a trouvé (c) joué leur role.
(iv) Arun travaille (d) et de la sinusite.
(v) Akash a une allergie (e)  des produits en ligne.

PART -V
(24 - Marks)
43. Traduisez en anglais : 3x8=24
(Translate into English)
(A) - Bonjour Monsieur. Je voudrais acheter des médicaments pour la toux, s’il vous plait.

- Et...vous aussi, vous toussez, madame!

- Oui, tout le monde tousse. Cette année il fait plus froid que 'année derniere. Faites-
moi voir 'ordonnance, sil vous plait.

- Non, je n’ai pas d’ordonnance.
- Pas grave. Vous voulez un sirop et quelques pastilles peut-étre ?
- Non, seulement le sirop est tres efficace.
- Merci monsieur, Bonne guérison a vous.
ou
(B) - Hé Satish! C’est un nouveau sac a dos ?
- Oui, je I'ai recu hier. Je n’ai pu m’empécher de I'utiliser immédiatement.
- Clest treés branché | Mais ot est-ce que tu 1’as acheté ?
- Jel'ai vu en ligne et je I'ai commandé tout de suite.
- Tu as da payer cher, sans doute ?

- Non, on peut acheter bon marché en ligne. C’est le plus récent de la gamme de ce sac.
J'avais aussi envie d’acheter cette marque, mais mon pere a refusé carrément.

[ Turn over
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a4. (A)

(B)

45. (A)

8

Ecrivez une lettre ou composez un e-mail a votre ami en présentant un spectacle de
danse que vous avez apprécié :

Oou

Rédigez une lettre ou composez un e-mail a votre frére en le remerciant pour le
Smartphone qu’il vous a offert.

Rédaction. Un enfant est gravement malade. Le médecin veut le faire transporter a
I'hopital de la grande ville. Vous faites partie d"un groupe de jeunes qui aide les parents
de I'enfant. Ecrivez en détail tout ce que vous avez fait.

ou
Rédaction : Que pensez-vous de la commande en ligne ? Vous étes pour ou contre ?

Pourquoi ? Donnez des raisons.

-00o0-
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AL 0 (1) MW MRl AdlsRs © d dudl Ad. el 518 vl @l dl, vis WRARlESA did eel s2ell.

2)  aviel Wi o=l 2L sl RUEAL GulaL s34l

TR, |
(15 Marks)
qoy, [Asey il dvl.

Answer the following questions by choosing the correct alternatives.

~

1. eedsy slAdiql sla O.
(@) sl (b)  R(A¢ Ul ©)

2. sls3lel uusvel (a3l © dg suu sReL sél wsiy 7

(a) [ qeRL 209 O q¥l (b) U o © sl ()
3. 519 Usyell susl Ll

(a)  sdl (b) Ll ()
4. oveirl et WL

(a) o oy B €l (b) & 2Ny €A (©)
5. usiad afid wldcu-dl YL sl 204 9.

(a) Ml Yo (b) ezl Yo ()
6. el [Gzeend] 2og IR

(a) Ui b) [ ()

deleld AW

Nt w2l $219 9 ael

Ylsl

& Uddld §14

ol ot

(As14

15x1=15
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7. .. Uiyt 2was wlasigy Bl dlkul gesie 51l wdl.

(a) 1310 (b) 1330 (c) 1340
8. ollal AuaL 2Helld A QL SEAUL AL

(a) AU (b)  Olsvul (@ <wex
9. [sia AU BELRLL O,

(@) &g AR (b) (8o (€) Y™ U
10. A dl¢ YN seldl 2 9.

(a) UER AcdMeud Wed  (b)  cld olsigR WAl (©)  YMIM 2ig oAlo
11, 2L sledHl Aeldl Geav w4l ©.

(@) awndl (b) ousiaRl (c) sl
12, R + 2uadd -l A sdsal JI0N

(@) [Rias (b) Ry € [Rienau
13.  Hlgrldld vea ad- 9.

(@) L8l (b)  UReieR () dluoua
14. =l oo A MR AR YsRYUL U s4l O,

(a) sl (b)  usieMeL (€)  uruedlz us
15. sl o (4138 20l 20y 9.

(a) ot (b) vl (€)™l

QL - 11
(18 Marks)
[@QewaL - 1

SUUSL AR 2L svellod 2L,
Answer any four of the following questions.

16. ‘[RusElA slad AL sl ster 9 9

17, MY HECA S10LSIRLNA © 7

4x2=8



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

apsyR1ell e (sciAledl UL 24 MIBIAL ] 2eg ©.
s gell cell 240 [A2uR1 vl 5¢ © 7
gL sin 2ull sl el 7

gRauuAl svon et ugct szenell o w7

[Qeua - 2
SISWGL WAL M2AL sYelo] AL

Answer any five of the following questions.

4 Gigdl
(a) Yras (b) awsl

24U AL svcll 200% :
() <l (b) sdl

AOYEL 2LCEL

(@) o (b) 3

RERSE

(a) sl (b) sl
A 20

(@) Wy b) ool

DR

(a) o/ (b) [Rr

3¢l L

(a) A ¢l 5l
(b)  Alddl U

8559

5x2=10
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29.

30.

31.

32.

33.

34.

35.

36.

37.

el - 111
(18 Marks)
@ - 1
SISURL 0L WAL sYello] AL

Answer any two of the following questions.

AiRctel 2scil s 101 S 7 dun 3 (6438 2L 20 © 7

sfad &ex e sreell gl wn 9 7

sl[Aet ALger=Aetl (i [ sl ol 7 dedl weedle Akt ) g ?

[Qewat - 2
SUTUSL OL YL syellol UL e 34 $200U1d. ©.

Answer any two of the following questions. Question No. 34 is compulsory.

cliet @l (g udi s(a el g2 oS @S 7
gl udd w2 53 doud 20ag © 7 50 s 204G B 7

(@)  2vis R (e efl 2ld s2eud ¢q 7
SULT)
(b)  UlAA ML Sl HEISIeL © 7 s s4L )

[Qewo - 3
SISYSL O UL sYedLe AL

Answer any two of the following questions.

Ads1AL vl 2] Al USR syellal.

ERNSE RSSTIETNE

(A sl
(a) R+9u

(b)  dld + U8l
(c) WRM + %R

2x3=6

2x3=6

2x3=6
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AL - IV
(25 Marks)
€25 MAIAL sYellol AL, 5x5=25

Answer the following questions.

(a) e 1N 51931 gl S uddd uzell W 5181 dledl ?
§YAl
(b) il slel 5(AA 3] sdd 2AlAd g wd B

(a) Rl 0ouHi Gavedd M clceued ARl sl WAt duiRL (Bat A gl
DL
(b)  sy=ulEetrintl 2A(C1rdgA sl Wt dHIz] odeted dvil.

syl 2AqUE $3L.

Health is very important thing for all of us. It is more important than wealth. If a
person is not healthy he cannot enjoy his life. They remain always sad. If we want to
maintain our health, we should follow some routine like rising early, morning walk and

some exercise. We should always take a balanced diet and healthy food.

vl svouL Yal.

() ol W du-l HQUR OUH oflalel.
(i)  H[ERAL HEd oL Y(d 2aufid ©.
(i) Ui At st Rig O.

(iv) ealRierl eidad ¢d.

(v) 2l 2 28R atiensll UYL U B,

(a)  sdssl sl

() vl - ofdeiat
(i) R R k]
(iii) Sl - Breuedl sk
(iv) g1 - Al e
(v) 2Bl - Rl
DL

(b) a2l sl ARl oL QL.
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43.

44.

45.

ARL -V
(24 Marks)
Al2L 200 AL sredlet A1), 3x8=24

Answer the following questions.

(@) ‘Awieter’ s{Aal dvil.
DL
(b) ‘elsl’ sladl avl.

(a) [Roier @vil. ‘galle Hee 2iaal HRL By dgar’
UL
(b)  “otdet Aiedl sl Al uiR Qv

(a) 12 e ozl AERAseL s
[QcAl o us1R . rRRIRA 2 $320u1d. [QRet, UL ol A4 24 [Qal 2ue auas’ 21
4 Yorod [SeneflAl w2 s3940 Rizd clgel 209 9. uig 2ilsy-l syl 24l Ried siR01d
[Aasdl A9l 2 [Qiza 3 2ARDs Riadl AldierRMl cnsidl Qs 48 A3 ©. $299U1d ael
21l Qe o €l O, 2dRiRanl M 516 221 €lg A8l Riarl 24009 2ids uuzall Gefl
UYL O, Rl UG UASR I8 Ue oI B,

2§yl
(b) AR sl
“§ LAL)€ 9Ys/R et
R QR etraMLdlAl 2Rl [ErRawr’

-00o0-



